Z Local Position All Modules

PR ELTTA Ty p LY Ly

e R L ")

Lt ] e b

[wio] [e207Z

8
_10:|||||||||||||||||||||||

80 100 120

60

40

20

0

tray



Module 0 Tray1l : z Local Fit

100
80
60

40f
Z0= + 0.0109(

20

g e TS

zLocal [cm]

Module 0 Tray5 : z Local Fit
100fF

80 J m\‘h

1R
60f
a0k
Z0 = 8 +0.0108°
20k
0 )

A0 6 420 2406 81

zLocal [cm]

Module 0 Tray9 : z Local Fit

120k

100p '[I‘ |{

8of

60f

40F 70 = 0 + 0.0105:
20f

o ! b ]
108 6420 2 4 6 810

zLocal [cm]

Module 0 Tray13 : z Local Fit

120

100

60

40 Z0 =

20

111

06 420 246810

zLocal [cm]

Module 0 Tray17 : z Local Fit

120

40F 70 = 40.025500 + 0.0p02

20

N6 s 20 24 6 810

zLocal [cm]

Module 0 Tray2 : z Local Fit

100

60

02!

zLocal [cm]

Module 0 Tray6 : z Local Fit
120F

100
80

60

18¢

zLocal [cm]

Module 0 Tray10 : z Local Fit

100
80
60
40

Z0=0.036742 + 0.0118¢
20f

0 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 0 Tray14 : z Local Fit

120
100
80
60
40 Z0 =

20

4l + 0.0110¢

g T

zLocal [cm]

Module 0 Tray18 : z Local Fit

60
40k Z0 =

20

8 +0.01103

3 < ]
910-8-6-4-20 2 4 6 8 10

zLocal [cm]

Module 0 Tray3 : z Local Fit

140fF
120f
100f
80fF
60fF
40F Z0 =

20

E)10-8-6-4-20 2 46 81

zLocal [cm]

Module 0 Tray7 : z Local Fit

+0.0098¢

100
80

60

40F Z0 =10.069220 + 0.0

zLocal [cm]

Module 0 Trayl1 : z Local Fit

96(

12

100

07¢

i
Ll
80
60
“OF zo0= 92 + 0.0]
20

zLocal [cm]

Module 0 Tray15 : z Local Fit

0
-10-8-6 -4-20 2 4 6 810

100

80

60

a0

20

12€

zLocal [cm]

Module 0 Tray19 : z Local Fit

60
40F Z0 =

20

5 + 0.0

0 ol
-10-8 -6 -4 -2 0 2

zLocal [cm]

UG8 0 2 46 810

46 8 10

Module 0 Tray4 : z Local Fit

14
120
100
80
60
400 70 =

20

40 + 0.0108¢

O e

zLocal [cm]

Module 0 Tray8 : z Local Fit

sof
a0F

30

62(

zLocal [cm]

Module 0 Tray12 : z Local Fit

120k
100
80
60
40

09¢

20

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 0 Tray16 : z Local Fit

100

60

a0f
55 + 0.0P96

20

s 20 2 46 810

zLocal [cm]

Module 0 Tray20 : z Local Fit

1=

0.8

0.6

0.4k

0.2p

96786 42

2 46 810

(=] -

zLocal [cm]



Module 0 Tray21 : z Local Fit

12
100
80
60
40

1+0.0112

20

O e T

zLocal [cm]

Module 0 Tray25 : z Local Fit

w
o
N
o
1
[=]
[y
o
(o]
[o2]
(]
I+
o
o

121

zLocal [cm]

Module 0 Tray29 : z Local Fit

120
100
80
60

“wof z0=

201

105

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 0 Tray33 : z Local Fit

120k

80
60
40

109

20

06420 24 6810

zLocal [cm]

Module 0 Tray37 : z Local Fit

14

60
40 Z0 =

208

114

N6 s 20 246 810

zLocal [cm]

Module 0 Tray22 : z Local Fit

1=

0.8

0.6

0.4

0.2

YT A2 02 46 810

zLocal [cm]

Module 0 Tray26 : z Local Fit

100

80

125

zLocal [cm]

Module 0 Tray30 : z Local Fit

10
8o RiL ] M
60 i

40f

20

0 ) A
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 0 Tray34 : z Local Fit

120
100
80
60

wf 70 =

20

11c

0086 s T 024 6 8 10

zLocal [cm]

Module 0 Tray38 : z Local Fit

20

R S S S R T

zLocal [cm]

Module 0 Tray23 : z Local Fit

sof
a0
30k
20f

4 + 0.0(187

10

R T

zLocal [cm]

Module 0 Tray27 : z Local Fit

141
120
100
80
60

09¢€

zLocal [cm]

Module 0 Tray31 : z Local Fit

80 L]l
60f

a0f
Z0= 65 + 0.0111

|

0 x q ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 0 Tray35 : z Local Fit

1=

0.8

0.6p

0.4p

0.2

E}ZI.O-8-6-4-20 2 46 810

zLocal [cm]

Module 0 Tray39 : z Local Fit

60
40F Z0 =

20

[ )
E)10-8-6-4-20 2 46 810

zLocal [cm]

Module 0 Tray24 : z Local Fit

120k

100

80

60

40F 70 =40.120495 + 0.01L11

20

0

-10-8 6 -4 20 2 4 6 8 1

zLocal [cm]

Module 0 Tray28 : z Local Fit

140p

120

100

80

60

zLocal [cm]

Module 0 Tray32 : z Local Fit

.0[L05

120k
100
80
60

4F 70 = 10.1370p4 + 0.0

208

0
-10-8 6 -4 20 2 4 6 8 1

zLocal [cm]

Module 0 Tray36 : z Local Fit

101

0

100

80

60

5+0.0
20

0864 20 2 46 B 1

zLocal [cm]

Module 0 Tray40 : z Local Fit

116

0

100

80

60

a0f

201

0

086 4202461810

zLocal [cm]



Module 0 Tray41 : z Local Fit

100

60

o7

zLocal [cm]

Module 0 Tray45 : z Local Fit

zLocal [cm]

Module 0 Tray49 : z Local Fit

120

80

60

201

o7

)

zLocal [cm]

Module 0 Tray53 : z Local Fit

0 . " ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 0 Tray57 : z Local Fit

A6 4 20 246810

13¢

60
a0 Z0 =

208

- .t
E)10-8-6-4-2 0 2 46 81

zLocal [cm]

13¢

0

Module 0 Tray42 : z Local Fit

zLocal [cm]

Module 0 Tray46 : z Local Fit

zLocal [cm]

Module 0 Tray50 : z Local Fit

100p
sof
60
a0k

g9 + 0.0114°
20f

0 o )
108 -6-4-202 4 6 8 10

zLocal [cm]

Module 0 Tray54 : z Local Fit

14
120F
100f
80
60

40F Z0 = (.0460

20

) i }
9086 2024 6810

zLocal [cm]

Module 0 Tray58 : z Local Fit

120f
100f
8of
60f
40F 70 =Q.0689

20

9GBS T 024 6810

zLocal [cm]

0 +0.0102°

+0.0108:

Module 0 Tray43 : z Local Fit

120
100
80
60
wf z0 = 10.0668

20

9 + 0.0010€

4l b 1
E)10-8-6 4 20 2 46 810

zLocal [cm]

Module 0 Tray47 : z Local Fit

120
100
80
60

.005733 + 0.0105(

zLocal [cm]

Module 0 Tray51 : z Local Fit

120

100 | ‘
Al

60

F z0= 5 + 0.0105:
20

0 » ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 0 Tray55 : z Local Fit

100

80

a0f

20

9084 20 24 6 810

zLocal [cm]

Module 0 Tray59 : z Local Fit
140p

40F Z0 = 03¢

I 1
E)10-8-6-4-20 2 46 810

zLocal [cm]

Module 0 Tray44 : z Local Fit
140F

120

100

80

60

zLocal [cm]

Module 0 Tray48 : z Local Fit

|01

08¢

120p

100

8of

60F

40F Z0 = (.020609 + 0.01

20F
2ol
zLocal [cm]

Module 0 Tray52 : z Local Fit

140F
120f
100F F l
sof
s0f
400 Z0 =0

201

46 + 0.00

96¢

zLocal [cm]

Module 0 Tray56 : z Local Fit

0 . 3 ]
-10-8 6 -4 20 2 4 6 8 10

100

80

40

20

zLocal [cm]

Module 0 Tray60 : z Local Fit

06 s 20 2 46 810

121

100

80

60

a0f

208

U664 20 2.4 6 8 1

zLocal [cm]

29;

0



Module 0 Tray61 : z Local Fit

100

sof Ml ]

60

zLocal [cm]

Module 0 Tray65 : z Local Fit

100

zLocal [cm]

Module 0 Tray69 : z Local Fit

120k
100
80
60

40F Z0 = {0.040629 * 0.0

20

20¢

15:

104

zLocal [cm]

Module 0 Tray73 : z Local Fit

0 ke ]
108 -6-4-20 24 6 810

099

zLocal [cm]

Module 0 Tray77 : z Local Fit

A6 420 246 810

60

a0 70 =

20

7 = 0.0

0

104

086 420246081

zLocal [cm]

0

Module 0 Tray62 : z Local Fit

120f
100f T
sof

60

6 + 0.0099(

zLocal [cm]

Module 0 Tray66 : z Local Fit

100p=

80

60

a0
Z0=0.018480 + 0.0115¢

20

g B R SR

zLocal [cm]

Module 0 Tray70 : z Local Fit

80

60

a0k

20

0 I
-10-8 6 -4 -2 0 2

zLocal [cm]

Module 0 Tray74 : z Local Fit

120
100
80
60
40k

09€

20

00 202 4 6 810

zLocal [cm]

Module 0 Tray78 : z Local Fit

60f
40k Z0 =

20

i, )
R I R S S R T

zLocal [cm]

Module 0 Tray63 : z Local Fit

14
120F
100k [F i
8o
60

20f 70 = 0 + 0.0107¢

zLocal [cm]

Module 0 Tray67 : z Local Fit

zLocal [cm]

Module 0 Tray71 : z Local Fit

100F
sof )ll
60f
20f

B2 + 0.0(131
20f

0 . ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 0 Tray75 : z Local Fit
120F

100
80
60
40k

2 +0.010E
20f

UG8 s 20 2 46 B 10

zLocal [cm]

Module 0 Tray79 : z Local Fit

60
4fF Z0 = 0 +0.0101

20

0

o i ]
-10-8-6 4-20 2 46 810

zLocal [cm]

Module 0 Tray64 : z Local Fit

120p
100k 11y

80

zLocal [cm]

Module 0 Tray68 : z Local Fit

9 + 0.0[L08

141
1208
100
80
60
40 70 =

201

7 £0.0

-010-8-6-4-2024681

zLocal [cm]

Module 0 Tray72 : z Local Fit

15

120
100
80
60
40 70 = -

20

0.049512 + 0.0

o) S Lenalonal
-10-8 6 -4 20 2 4 6 8 1

zLocal [cm]

Module 0 Tray76 : z Local Fit

D98

0

100f
sop
60f
a0k

Z0 ={0.0804%8 + 0.0
20f

0864 20 2 46 81

zLocal [cm]

Module 0 Tray80 : z Local Fit

124

0

100

80

60

a0p

201

0

086 42024061810

zLocal [cm]



Module 0 Tray81 : z Local Fit

100

sof i

zLocal [cm]

Module 0 Tray85 : z Local Fit

Il
60
40p
Z0=10 B6 + 0.0
20

121

100 '

zLocal [cm]

Module 0 Tray89 : z Local Fit

113

100

60

40F Z0 =

20

100

0 "
-10-8 -6 -4-2 0 2 4 6 8 1

zLocal [cm]

Module 0 Tray93 : z Local Fit

0

50

a0p

30

20

10

906 420 24681

zLocal [cm]

Module 0 Tray97 : z Local Fit

182

0

60

a0F 70 =
20

E)10-8-6-4-20 2 4 6 81

zLocal [cm]

100

Module 0 Tray82 : z Local Fit

120
100
80
60

40F Z0 = 10.1590p0 + 0.0{L0€

20

e S T

zLocal [cm]

Module 0 Tray86 : z Local Fit

oof
s0f
70p Ik i
oy 11PN
s0f
20f
30f

Z0 ={0.0987pP9 * 0.0fL2E

zLocal [cm]

Module 0 Tray90 : z Local Fit

100

80

60

a0k

20

0 - ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 0 Tray94 : z Local Fit
140F

120
100
80
60
wp 70 =

20

103

e T

zLocal [cm]

Module 0 Tray98 : z Local Fit

60
40 115

20

908 s T 024 6 8 10

zLocal [cm]

Module 0 Tray83 : z Local Fit
120F

100
80
60

40F 70 =10.168200 = 0.0{10€

20

R T

zLocal [cm]

Module 0 Tray87 : z Local Fit

120
100
80
60

D97

zLocal [cm]

Module 0 Tray91 : z Local Fit

90
80
70
60
50
40|
30
20
10

9 + 0.011€

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 0 Tray95 : z Local Fit
100fF

sof
60
a0

0 +0.011¢
20f

& | )
E)ZI.O-8-6-4-20 2 46 810

zLocal [cm]

Module 0 Tray99 : z Local Fit

60

40F 70 =

20

6 = 0.0107

U684 0 2 46 810

zLocal [cm]

Module 0 Tray84 : z Local Fit

120
100k I I‘U

80

57 + 0.0[L02

zLocal [cm]

Module 0 Tray88 : z Local Fit

120
100
80
60
400 70 =

201

0 + 0.0[L09

b il 1
-010-8-6-4-2024681

zLocal [cm]

Module 0 Tray92 : z Local Fit

120k
100f I
8of
60f
40k Z0=40 D0 + 0.0p98

201

0 g o J
10-8 6 -4-20 2 4 6 8 10

zLocal [cm]

Module 0 Tray96 : z Local Fit

9o
s0f
70F
60F
s0f
a0F
30k 70 =
20f
10f

D4 + 0.0[124

64 20 24 6 810

zLocal [cm]

Module 0 Tray100 : z Local Fit

100k
sof
s0f
a0f

D99

208

U664 20 246 810

zLocal [cm]



Module 0 Tray101 : z Local Fit

SF Z0=40 88 + 0.0[123

zLocal [cm]

Module 0 Tray105 : z Local Fit

100

80

60

a0f

Z0 = {0.002840 + 0.0[121
20

O S R T

zLocal [cm]

Module 0 Tray109 : z Local Fit

120k
100

80

wof z0=

20

g8 + 0.0096¢

0 p o ,
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 0 Tray113: z Local Fit

04¢

N6 s 20 246 810

zLocal [cm]

Module 0 Tray117 : z Local Fit

a0 Z0 =

208

02¢

66 420 24 6810

zLocal [cm]

Module 0 Tray102 : z Local Fit

1t
0.8
0.6
0.4

0.2

-10-8 6-4-202 4 6 810

zLocal [cm]

Module 0 Tray106 : z Local Fit

161

zLocal [cm]

Module 0 Tray110 : z Local Fit

60

“F +0.0108t

20

i I

0 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 0 Tray114 : z Local Fit

09!

0086 s 20 24 6 810

zLocal [cm]

Module 0 Tray118 : z Local Fit

40F Z0 =

20

+0.0307"

0

Ao8 64202 46810

zLocal [cm]

Module 0 Tray103 : z Local Fit

1=

0.8

0.6p

0.4pF

0.2

ISO
S A
Sk
IN %
Y A
ok
Nia
IN A
ok
o]
=
1S

zLocal [cm]

Module 0 Tray107 : z Local Fit

14
120
[ KEH
100f AT
80
60
awf 70 = 2 +0.0104!
20

zLocal [cm]

Module 0 Tray111 : z Local Fit

100

Ml ol
80 Iu,» | ‘
60

a0
Z0= + 0.0120(
20p

0 2 A
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 0 Tray115 : z Local Fit

100
sof
60
a0

7 +0.0117(
20f

|

U0 e 0 2 46 B 10

zLocal [cm]

Module 0 Tray119 : z Local Fit

120
100
80
60
aof 70 = (

20

06¢

y il ]
E)10-8-6-4-20 2 46 810

zLocal [cm]

Module 0 Tray104 : z Local Fit

120k

100k 1]

60

b8 + 0.0p97

zLocal [cm]

Module 0 Tray108 : z Local Fit

53 + 0.0p24

zLocal [cm]

Module 0 Tray112 : z Local Fit
14

120

100

80

40f 36 + 0.0096¢

o a i )
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 0 Tray116 : z Local Fit
100fF

sof
60
a0k

24;
20f

U064 20 246 810

zLocal [cm]

Module 0 Tray120 : z Local Fit

100

80

60

a0f

Z0 =(.049830D + 0.0108:

208

U664 20 2.4 6 810

zLocal [cm]



Module 0 Tray101 : z Local Fit

SF Z0=40 88 + 0.0[123

zLocal [cm]

Module 0 Tray105 : z Local Fit

100

80

60

a0f

Z0 = {0.002840 + 0.0[121
20

O S R T

zLocal [cm]

Module 0 Tray109 : z Local Fit

120k
100
80
60

g8 + 0.0096¢

20

0 p o ,
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 0 Tray113: z Local Fit

04¢

G064 20 246 810

zLocal [cm]

Module 0 Tray117 : z Local Fit

a0 Z0 =

208

+ 0.0102¢

66420 24 6810

zLocal [cm]

Module 0 Tray102 : z Local Fit

1=

0.8

0.6

0.4

0.2

-10-8 6-4-202 4 6 81

zLocal [cm]

Module 0 Tray106 : z Local Fit

161

zLocal [cm]

Module 0 Tray110 : z Local Fit

60

a0k

20

08t

i I

zLocal [cm]

Module 0 Tray114 : z Local Fit

0 ]
-10-8 6-4-20 2 4 6 8 10

09!

zLocal [cm]

Module 0 Tray118 : z Local Fit

006 s 20 24 6 810

40F Z0 =

20

+0.0]

910 -8 -6-4-20 2

zLocal [cm]

4 6810

07"

Module 0 Tray103 : z Local Fit

F

0.8

0.6p

0.4F

0.2
RN

zLocal [cm]

Module 0 Tray107 : z Local Fit

141

120

100

80

60

[ M
L AL
F Z0 = 2 + 0.0104!

zLocal [cm]

Module 0 Tray111 : z Local Fit

100

80

60

40

20

+ 0.0120(

0 2 )
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 0 Tray115 : z Local Fit

100

80

60

40|

20

7 +0.0117(

E)ZI.O 86 -4-20 2

¢l )
46 8 10

zLocal [cm]

Module 0 Tray119 : z Local Fit

120

100

80

60

40|

20

06¢

0

y il ]
-10-8 -6 4-20 2 46 810

zLocal [cm]

Module 0 Tray104 : z Local Fit

120k

100k 1]

60

zLocal [cm]

Module 0 Tray108 : z Local Fit

D97

zLocal [cm]

Module 0 Tray112 : z Local Fit
14

P24

120

100

80

a0f

zLocal [cm]

Module 0 Tray116 : z Local Fit

0 A ]
-10-8 6 -4 20 2 4 6 8 10

96¢

100F

80

60

a0k

20

24;

zLocal [cm]

Module 1 Trayl : z Local Fit

064 20 246 810

45p
40
35F
30F
25p
20§
15
10F Z0 =

5

D + 0.04

29¢

0

zLocal [cm]

0864202461810



Module 1 Tray2 : z Local Fit

50

40

30

zLocal [cm]

Module 1 Tray6 : z Local Fit
5

74¢

. 3
3sk
30k [-]\.wi‘
25k
20F

15p

10 Z0=0.06080b + 0.0220"

5p

O R R

zLocal [cm]

Module 1 Tray10 : z Local Fit

35
308
25p
20p
15
10

0
-10-8 -6 -4-2 0 2 4 6 8 1

zLocal [cm]

Module 1 Tray14 : z Local Fit

P12

0

4sp
a0k L
35 \

30f

25p
20f

F z0= 98 + 0.0173¢

10

G064 20 24 681

zLocal [cm]

Module 1 Tray18 : z Local Fit

0

50k

40pF

30k

20

10

06 420 24681

zLocal [cm]

+ 0.0184:

0

Module 1 Tray3 : z Local Fit

zLocal [cm]

Module 1 Tray7 : z Local Fit

50

)

Z0 = 07 + 0.0180!

zLocal [cm]

Module 1 Tray11 : z Local Fit
40F

35p
30
25
20
15
10k Z0 =
5k

g3 + 0.0206¢

0 Ll z )
-10-8 6-4-2 02 4 6 810

zLocal [cm]

Module 1 Tray15 : z Local Fit
45
40F

35p
30
25p
20p
15
10 Z0 =

5k

9l + 0.021134

g WL |
910-8-6-4-20 2 4 6 8 10

zLocal [cm]

Module 1 Tray19 : z Local Fit
50F

40
30
20

n7e
10F

! 1
910-8-6-4-20 2 4 6 8 10

zLocal [cm]

Module 1 Tray4 : z Local Fit

50

a0

30

20

.062217 + 0.0155°

10

O R T

zLocal [cm]

Module 1 Tray8 : z Local Fit

zLocal [cm]

Module 1 Tray12 : z Local Fit

50
40
30
20

9 + 0.0175:
10F

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 1 Tray16 : z Local Fit
50

a0
30k

20

b 20 .0p31

U0 8 s 20 2 46 810

zLocal [cm]

Module 1 Tray20 : z Local Fit

1=

0.8

0.6

0.4f

0.2

4 6 8 10

KK
o
N 3
Sk
B
“E
ok
N

zLocal [cm]

Module 1 Tray5 : z Local Fit

P45

zLocal [cm]

Module 1 Tray9 : z Local Fit

50
i
b |1FF
20
Z0 = 5 + 0.0196¢
10

zLocal [cm]

Module 1 Tray13 : z Local Fit

50

$3 + 0.0[L97
10F

0 ¥ ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 1 Trayl17 : z Local Fit

45k
a0k
3sf
30F
25F
20f
15k
10f

53 + 0.0[L89

NG 20 2 46 810

zLocal [cm]

Module 1 Tray21 : z Local Fit

45k
a0F
3sf
30F
25
20F
15f
1ok 20 =
5k

O 20 2 46 810

.0[L99

zLocal [cm]



Module 1 Tray22 : z Local Fit

1=

0.8

0.6p=

0.4

0.2

O e R T

zLocal [cm]

Module 1 Tray26 : z Local Fit
40F

35§
30
25
20p

P16

zLocal [cm]

Module 1 Tray30 : z Local Fit

35
308
25
20p
15p

10F 70 = 6 + 0.0R10

0 e )
108 6420 2 4 6 810

zLocal [cm]

Module 1 Tray34 : z Local Fit
S0

a0p
30k
20f

87

10

N6 420 24 6810

zLocal [cm]

Module 1 Tray38 : z Local Fit

50pm
40pF
30pF
20

p17
10F

N6 s 20 246 810

zLocal [cm]

Module 1 Tray23 : z Local Fit

50
40

30k

Z0 = 0p3 * 0.0[L52

zLocal [cm]

Module 1 Tray27 : z Local Fit

b8 + 0.01181

zLocal [cm]

Module 1 Tray31 : z Local Fit

zLocal [cm]

Module 1 Tray35 : z Local Fit

1=

0.8

0.6

0.4

0.2

-10-8 6-4-20 2 4 6 810

zLocal [cm]

Module 1 Tray39 : z Local Fit

50,
40
30
20

171
10

90 s T 02 4 6 8 10

zLocal [cm]

Module 1 Tray24 : z Local Fit

S
E)lJ-8-6-4-20 2 46 81

zLocal [cm]

Module 1 Tray28 : z Local Fit

.0R0¢g

50
a0k

30f IV {

zLocal [cm]

Module 1 Tray32 : z Local Fit

18¢

50
40 ‘
aof ‘( il
20

10

zLocal [cm]

Module 1 Tray36 : z Local Fit

167

40
35k
30
25p
20f

15
10k Z0 =

186

E)ZI.O -8 -6 -

zLocal [cm]

Module 1 Tray40 : z Local Fit

6 8 10

3¢

{

0

zLocal [cm]

A8 64202460810

Module 1 Tray25 : z Local Fit

zLocal [cm]

Module 1 Tray29 : z Local Fit

s0f
a0F
30f
20f

7 £0.0p10

10

O R

zLocal [cm]

Module 1 Tray33 : z Local Fit

a5k
a0f
asp
30f
25
20F
15f
10f

9 + 0.0[L84

0 o = ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 1 Tray37 : z Local Fit

45k
a0k
3sf
30F
25F
20f
15k
10f

D4 + 0.0[L77

06 4 20 2 46 810

zLocal [cm]

Module 1 Tray41 : z Local Fit

45p
40
35F
30F
25p
20§
15
10

5k

o664 20 2.4 6 810

0.1335[1 + 0.0228

zLocal [cm]



Module 1 Tray42 : z Local Fit
50fF

a0F
30f

20

10 + 0.0[199

zLocal [cm]

Module 1 Tray46 : z Local Fit

D4 + 0.0[L77

zLocal [cm]

Module 1 Tray50 : z Local Fit

35
30
25
20
15
0f 70 =

5 +0.0p28

o . D )
-10-8 -6 -4-2 0 2 4 6 810

zLocal [cm]

Module 1 Tray54 : z Local Fit

5
408
30
20

191

10

I |
G064 20 24 6810

zLocal [cm]

Module 1 Tray58 : z Local Fit
50

40pF
30
20

1ok 14¢

fl L )
E)10-8 6 -4-20 2 4 6 810

zLocal [cm]

Module 1 Tray43 : z Local Fit

50
40 ‘
aof '

20

Z0 = 10.1803%9 * 0.0p21

10

O S T

zLocal [cm]

Module 1 Tray47 : z Local Fit

Z0 =(.008310 + 0.0166¢

i i )
913-8-6-4-2 02 4 6 810

zLocal [cm]

<

odule 1 Tray51 : z Local Fit
45F

20F
35k |
30F

25
20F

15
ol Z0=0.040908 + 0.0394

08 64202462810

zLocal [cm]

Module 1 Tray55 : z Local Fit
40F

35k
30
25F
20F
15f
10 Z0=

sk

1n7e

s 202 4 6 810

zLocal [cm]

Module 1 Tray59 : z Local Fit

45
40
35
30
25
20

ol

zLocal [cm]

Module 1 Tray44 : z Local Fit

50

30

167

-10-8-6 -4-20 2 4 6 8 1

zLocal [cm]

Module 1 Tray48 : z Local Fit

173

zLocal [cm]

Module 1 Tray52 : z Local Fit

1 )
40F ‘
3sp L
4
25F
20F

“F z0=
10

g6 + 0.01

75!

zLocal [cm]

Module 1 Tray56 : z Local Fit

0 A - )
-10-8-6 -4-20 2 46 810

40
35k
30
25p
20f
15

of q1 +0.01

91€

zLocal [cm]

Module 1 Tray60 : z Local Fit

U084 20 2 46 B 10

a0
35
“F il \‘
25k i
20F ‘
15F
10 Z0 =
sk

g9 £ 0.01

85:

0

zLocal [cm]

A8 642024060810

Module 1 Tray45 : z Local Fit
40F

35
30
25
20f

2 +0.0p04

zLocal [cm]

Module 1 Tray49 : z Local Fit
45F
40p

3sf
30F
25f
20F

.0[L94

zLocal [cm]

Module 1 Tray53 : z Local Fit

40
30
201

1+0.0194
10F

0 - s )
108 64202 46 8 10

zLocal [cm]

Module 1 Tray57 : z Local Fit

508

30

20f
58:

0864 20 246 810

zLocal [cm]

Module 1 Tray61 : z Local Fit

35k
30p
25p
208
15p
10F 70 =
sk

P36

L | ]
E)10-8-6-4-20246810

zLocal [cm]



Module 1 Tray62 : z Local Fit

zLocal [cm]

Module 1 Tray66 : z Local Fit

35
30
25
20

15

zLocal [cm]

Module 1 Tray70 : z Local Fit

4of
3sf
30f bl Ii
2sf
20F

15
10pk Z0 =

0 N
-10-8 -6 -4 -2 0

zLocal [cm]

Module 1 Tray74 : z Local Fit

2 4 6 8 10

asf
20F
3s5f
30f
25
20f
15k
10f

5k

zLocal [cm]

Module 1 Tray78 : z Local Fit

Z0 =40.075585 + 0.0

N0 6420 24 6810

50

aof

30

208

10

0

zLocal [cm]

086 420 240681

0

45
40
ash I
30
25
20
158
10

P05

45F
a0
35
30
25
20f

15

182 10k Z0 =

50
40p
30f
20F

172

10

9086 2024 6 8 10

Module 1 Tray63 : z Local Fit

I

08 642024 68 10

zLocal [cm]

Module 1 Tray67 : z Local Fit

Z0 =(.040859 + 0.0204°

zLocal [cm]

Module 1 Tray71 : z Local Fit

834

P18

zLocal [cm]

Module 1 Tray75 : z Local Fit

8 10

sk

192

O R 202 4 6 810

zLocal [cm]

Module 1 Tray79 : z Local Fit

zLocal [cm]

16€

Module 1 Tray64 : z Local Fit

50
a0
i
30f |
20k

10

)

zLocal [cm]

Module 1 Tray68 : z Local Fit

A8 6420246181

Z0 = 41 + 0.0153¢

50

20k

30

zLocal [cm]

Module 1 Tray72 : z Local Fit

.0R1C

20F
ok ‘m i
20F

10

zLocal [cm]

Module 1 Tray76 : z Local Fit

0 ]
-10-8-6 -4-20 2 4 6 810

171

35p

30

25

20

15

10f Z0 = 10.0989p5 =+ 0.0

zLocal [cm]

Module 1 Tray80 : z Local Fit

24

U0 8 s 20 2 46 810

sof
a0f
sof

20

10p Z0=

0

zLocal [cm]

6 + 0.0

23C

A8 64202461810

Module 1 Tray65 : z Local Fit

asf
a0F
3sf
30F
25F
20f
15k

10k Z0 =.028914 + 0.0[L92

5k
0 J U

08 6 4202406 81

zLocal [cm]

Module 1 Tray69 : z Local Fit

50F
a0F

‘I
30f l

201

.0[L76

zLocal [cm]

Module 1 Tray73 : z Local Fit

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 1 Tray77 : z Local Fit

60

508

a0F

30

20

10

U064 20 2 46 810

zLocal [cm]

Module 1 Tray81 : z Local Fit

35pm
30
25p
20p
15p
10

S5

J 1 }
108 -6-4-202 46 810

0

P74

zLocal [cm]



Module 1 Tray82 : z Local Fit

0,

zLocal [cm]

Module 1 Tray86 : z Local Fit

M08 6 420246 810

Z0 =10.1948B3 + 0.0p10

35

30

25

208

15p

10

5

-010-8-6-4-20 2 4 6 8 1

zLocal [cm]

Module 1 Tray90 : z Local Fit

3 £ 0.0R76

45F
40f
35
30F
25F 2
20fF

15F
10 Z0=40
5k

0 o .
-10-8 -6 -4-2 0 2 4 6 8 1

zLocal [cm]

Module 1 Tray94 : z Local Fit

77

0

508

408

20

10

N6 4 20 246 81

zLocal [cm]

Module 1 Tray98 : z Local Fit

67

0

60

50

40pF

30

208

10

A e,
E)10-8-6-4-20 2 4 6 81

zLocal [cm]

02

Module 1 Tray83 : z Local Fit

50

40

30pF

18¢

zLocal [cm]

Module 1 Tray87 : z Local Fit

asf
a0
35
30
25k
20F

B8 + 0.0[L8C

zLocal [cm]

Module 1 Tray91 : z Local Fit

40p
35p
30
25
20
15

10k 70 = D1 + 0.0228

0 J L ]
10-8-6-4-202 4 6 8 10

zLocal [cm]

Module 1 Tray95 : z Local Fit
45F

a0
35
30
25
20f
15F
10F Z0=
5

0.1923]L7 + 0.0[L87

908 A 02 4 6 8 10

zLocal [cm]

Module 1 Tray99 : z Local Fit

45
20f
35F ‘LIJ‘
30 L A
25f
20
15f
P3 + 0.0[L7¢
10

5k

AT 202 4 6 810

zLocal [cm]

Module 1 Tray84 : z Local Fit

50

a0

30

20

10

B R T

zLocal [cm]

Module 1 Tray88 : z Local Fit

sof
20k

30

0.0879[L6 + 0.0{191

zLocal [cm]

Module 1 Tray92 : z Local Fit
S0

40

30

20

Z0 = {0.1316p6 + 0.0[18€

zLocal [cm]

Module 1 Tray96 : z Local Fit

35

30

25 \‘ ‘
20 ‘
15p

10F Zz0= 04D4 + 0.0R41

4 ]
E)ZI.0-8-6-4-20 2 46 810

zLocal [cm]

Module 1 Tray100 : z Local Fit

10 Z0 =10.1048f6 + 0.020C

! | )
E)10-8-6-4-20 2 46 810

zLocal [cm]

Module 1 Tray85 : z Local Fit

P15

zLocal [cm]

Module 1 Tray89 : z Local Fit

60
501
40

30k N

DO + 0.0[L75

zLocal [cm]

Module 1 Tray93 : z Local Fit

50
40
30
201

82 + 0.0[192
10F

i

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 1 Tray97 : z Local Fit

40

30

20

10

'L
E:'10-8-6-4-20246810

zLocal [cm]

Module 1 Tray101 : z Local Fit

16 + 0.0p82

0864202461810

zLocal [cm]



Module 1 Tray102 : z Local Fit

1=

0.8

0.6p=

0.4

0.2

O e R T

zLocal [cm]

Module 1 Tray106 : z Local Fit

P2 + 0.0[195

zLocal [cm]

Module 1 Tray110 : z Local Fit

40
35
30
25p
20f
15p

ok Z0= 8 +0.0220(

0 . " ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 1 Tray114 : z Local Fit

408

20

177

10

A6 420 246 810

zLocal [cm]

Module 1 Tray118 : z Local Fit
50

40pF
30
20

163

10

% )
E)10-8 6 -4-20 2 4 6 810

zLocal [cm]

Module 1 Tray103 : z Local Fit

1t
0.8
0.6
0.4

0.2

-10-8 6-4-202 4 6 810

zLocal [cm]

Module 1 Tray107 : z Local Fit
50

)

30

7€

zLocal [cm]

Module 1 Tray111 : z Local Fit

10k Z0 = ( d8 + 0.0201(

0 b . )
-10-8 64 -2 02 4 6 8 10

zLocal [cm]

Module 1 Tray115 : z Local Fit
45F

a0
35
30
25
20f

15f
10f Z0 =40.0547%8 + 0.00197

0086 202 4 6 810

zLocal [cm]

Module 1 Tray119 : z Local Fit

+ 0.0163¢

0

0864202 4 63810

zLocal [cm]

Module 1 Tray104 : z Local Fit

50

4681

zLocal [cm]

Module 1 Tray108 : z Local Fit

B2 + 0.0191

zLocal [cm]

Module 1 Tray112 : z Local Fit

22C

45
40
35
30|
25
20|

5 14 + 0.0
10

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 1 Tray116 : z Local Fit

1732

20f
sk
3ok
25f
20f
15f
10 Z0=

zLocal [cm]

Module 1 Tray120 : z Local Fit

U0 8 20 2 46 B 10

B
01

T M

30

I
25k |‘
20
15

10k Z0=40.0780R1 + 0.02

zLocal [cm]

. . )
E)10-8-6-4-20 2 46 810

Module 1 Tray105 : z Local Fit

zLocal [cm]

Module 1 Tray109 : z Local Fit

zLocal [cm]

Module 1 Tray113: z Local Fit

50
40
30
201

8 + 0.0177:
10F

i K
0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 1 Tray117 : z Local Fit

50

40

30

20

10

U0 s 20 2 46 810

zLocal [cm]



Module 1 Tray102 : z Local Fit

1=

0.8

0.6p=

0.4

0.2

O e R T

zLocal [cm]

Module 1 Tray106 : z Local Fit

P2 + 0.0[195

zLocal [cm]

Module 1 Tray110 : z Local Fit

40
35
30
25p
20f
15p

ok Z0= 8 +0.0220(

0 . " ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 1 Tray114 : z Local Fit

408

20

177

10

N0 6420 246 810

zLocal [cm]

Module 1 Tray118 : z Local Fit
50

40pF
30
20

163

10

% )
E)10-8 6 -4-20 2 4 6 810

zLocal [cm]

Module 1 Tray103 : z Local Fit

1t
0.8
0.6
0.4

0.2

-10-8 6-4-202 4 6 810

zLocal [cm]

Module 1 Tray107 : z Local Fit

50F
)

30

7€

zLocal [cm]

Module 1 Tray111 : z Local Fit

10k Z0 = ( d8 + 0.0201(

0 b . )
-10-8 64 -2 02 4 6 8 10

zLocal [cm]

Module 1 Tray115 : z Local Fit
45k

a0
35
30
25
20f

15f
10f Z0 =40.0547%8 + 0.00197

0086 202 4 6 810

zLocal [cm]

Module 1 Tray119 : z Local Fit

+ 0.0163¢

0

N0 864202 4 61810

zLocal [cm]

Module 1 Tray104 : z Local Fit
50k

B2 + 0.0191

46 810

zLocal [cm]

Module 1 Tray108 : z Local Fit

22C

zLocal [cm]

Module 1 Tray112 : z Local Fit

45
40
35
30|
25
20|

5 14 + 0.0172
10

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 1 Tray116 : z Local Fit

20f
sk
3ok
25f
20f
15f
10 Z0=

U0 8 20 2 46 810

zLocal [cm]

Module 2 Tray1l : z Local Fit

25
S

20
15p

10

61:

U686 s 20 246 810

zLocal [cm]

Module 1 Tray105 : z Local Fit

zLocal [cm]

Module 1 Tray109 : z Local Fit

zLocal [cm]

Module 1 Tray113: z Local Fit

50
40
30
201

8 + 0.0177:
10F

i K
0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 1 Tray117 : z Local Fit

50

40

30

20

10

04 20 2 46 810

zLocal [cm]

Module 2 Tray2 : z Local Fit

25k
20

15k

Z0 =(.06858D + 0.0488:

U662 20 2 46 810

zLocal [cm]



Module 2 Tray3 : z Local Fit

zLocal [cm]

Module 2 Tray7 : z Local Fit

P89

zLocal [cm]

Module 2 Tray11 : z Local Fit

25

20

15k

10

zLocal [cm]

Module 2 Tray15 : z Local Fit

0 ]
-10-8 6 -4-2 0 2 4 6 810

P73

|
12 \” I

+0.03

zLocal [cm]

Module 2 Tray19 : z Local Fit

086 4202426810

O5E

25]

20]

15

10

E)10-8-6-4-20 2 4 6 8 1

zLocal [cm]

50!

0

Module 2 Tray4 : z Local Fit

30p

25

20

15

zLocal [cm]

Module 2 Tray8 : z Local Fit

32

zLocal [cm]

Module 2 Tray12 : z Local Fit

25

20

15

10

[l RO

0
-10-8 6-4-20 2 4 6 8 1

zLocal [cm]

Module 2 Tray16 : z Local Fit

B27

0

30

25

20

15

10

zLocal [cm]

Module 2 Tray20 : z Local Fit

00 86" 02 4 6 8 10

B61

1=

0.8

0.6

0.4f

R
(=]
ob
N 3
I3
Y 3
Of=
N

4 6 81

zLocal [cm]

0

Module 2 Tray5 : z Local Fit

2
20
18

zLocal [cm]

Module 2 Tray9 : z Local Fit

30
25
20

MJ‘

15f il [T

zLocal [cm]

Module 2 Tray13 : z Local Fit

03:

30

25

20

15p

10

0 D
-10-8-6 -4-20 2 4 6 8 1

zLocal [cm]

Module 2 Tray17 : z Local Fit

0

25

20

15p

10

Z0 = (.008990 =+ 0.04

07(

b [

U084 20 2 46 B 10

zLocal [cm]

Module 2 Tray21 : z Local Fit

25p

20

15p

10

B32E

0

zLocal [cm]

A8 64202460810

Module 2 Tray6 : z Local Fit

2E
5

20f

15 Iy
it

4

56 + 0.0342:

zLocal [cm]

Module 2 Tray10 : z Local Fit
22p

B65

zLocal [cm]

Module 2 Tray14 : z Local Fit

25

208

15

10

b4 + 0.0P66

0 LY ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 2 Tray18 : z Local Fit

25

201

15p

10

71t

U064 20 24 6 810

zLocal [cm]

Module 2 Tray22 : z Local Fit

1=

0.8

0.6

0.4k

0.2p

E:10-8-6-4-20246810

zLocal [cm]



Module 2 Tray23 : z Local Fit

25
20
15p

10

Z0 =10.1651p4 + 0.0p91

zLocal [cm]

Module 2 Tray27 : z Local Fit

25
20

15p

Z0 = 10.1544p0 + 0.0p81

zLocal [cm]

Module 2 Tray31 : z Local Fit

b3 + 0.0R95

| ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 2 Tray35 : z Local Fit

1=

0.8

0.6

0.4

0.2

-10-8 6 4-2 0 2 4 6 810

zLocal [cm]

Module 2 Tray39 : z Local Fit

25
20
15

10
B14

1086 4202461810

zLocal [cm]

Module 2 Tray24 : z Local Fit

25
20
15

10

Z0 =10.1335p9 * 0.0R73

zLocal [cm]

Module 2 Tray28 : z Local Fit

Z0=10 0PO + 0.0B2€

zLocal [cm]

Module 2 Tray32 : z Local Fit

25
20
A
15k li ”I
10
-} Z0=10.1904B0 + 0.0p5€

0 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 2 Tray36 : z Local Fit

20
18

B5&

08 642024062810

zLocal [cm]

Module 2 Tray40 : z Local Fit
24
22F
20
18

Z0 =10 5Y0 + 0.0p3¢

086420274768 10

zLocal [cm]

Module 2 Tray25 : z Local Fit

25
20
15 ‘
wf LR

13 + 0.085€

O R T

zLocal [cm]

Module 2 Tray29 : z Local Fit

25
20

15p

301

zLocal [cm]

Module 2 Tray33 : z Local Fit

25

20 |
nin R N1

15k H”

10F
Z0=10 19 + 0.083¢

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 2 Tray37 : z Local Fit

30

25k

20

15

10

g ]
E)ZI.O-8-6-4-20 2 46 810

zLocal [cm]

Module 2 Tray41 : z Local Fit

90B1 + 0.0422

4
2
U0 8 s 0 2 46 810

zLocal [cm]

Module 2 Tray26 : z Local Fit

2E
5

20
15p
10

OD8 + 0.0p78

zLocal [cm]

Module 2 Tray30 : z Local Fit

B35

zLocal [cm]

Module 2 Tray34 : z Local Fit

25
201
15

10F
Z0 =40.169067 + 0.0p82

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 2 Tray38 : z Local Fit
30|

25
201

15p

346

90864 20 24 6 810

zLocal [cm]

Module 2 Tray42 : z Local Fit

25pm
20
15k

10

b1 + 0.0191

U664 20 2.4 6 810

zLocal [cm]



Module 2 Tray43 : z Local Fit

25
20
15

10

P52

O e T

zLocal [cm]

Module 2 Tray47 : z Local Fit

l
15p ] |

20=0 b2 + 0.0[L78

zLocal [cm]

Module 2 Tray51 : z Local Fit

5|

20

15k

3 +0.0814

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 2 Tray55 : z Local Fit

r44

6
4
2
[0\ 4
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 2 Tray59 : z Local Fit

30
25]
20
15§
10}

B22
5

06 s 20 24 6810

zLocal [cm]

Module 2 Tray44 : z Local Fit

Z0= b8 + 0.087¢€

zLocal [cm]

Module 2 Tray48 : z Local Fit
25

20
15

10
P6S

zLocal [cm]

Module 2 Tray52 : z Local Fit

25
20
15 1l ‘H

10

Z0 = 56 + 0.0276:

0 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 2 Tray56 : z Local Fit

P8E

008 s 202 4 6810

zLocal [cm]

Module 2 Tray60 : z Local Fit
22
20F
18
16

o Tl

B3 + 0.0R4C

, =
LO N N o @ O
N
o
1l
-]

S

08 -6-42027476 810

zLocal [cm]

Module 2 Tray45 : z Local Fit

-10-8-6 -4-20 2 4 6 8 1

zLocal [cm]

Module 2 Tray49 : z Local Fit

zLocal [cm]

Module 2 Tray53 : z Local Fit

25

20

15

10

R4€

zLocal [cm]

Module 2 Tray57 : z Local Fit

0 ]
-10-8-6 -4-20 2 4 6 810

25

20

10

P5€

zLocal [cm]

Module 2 Tray61 : z Local Fit

U084 20 2 46 810

324

8
6
4
2
0l

zLocal [cm]

A8 64202460810

Module 2 Tray46 : z Local Fit

25k

20

4 1 ]

10

£ 20=P0 b9 + 0.0p21

zLocal [cm]

Module 2 Tray50 : z Local Fit

P66

zLocal [cm]

Module 2 Tray54 : z Local Fit

2sp
20F \
1sf II! H

10F
Z0 = 45 + 0.0469¢

0 : 4
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 2 Tray58 : z Local Fit

25
208
15k

10

71¢

0864 20 246 810

zLocal [cm]

Module 2 Tray62 : z Local Fit
30]

25k
20
15p

10F
P72

U064 20 2.4 6 810

zLocal [cm]



Module 2 Tray63 : z Local Fit

30
25
20 J

15f i H‘

b8 + 0.0B04

zLocal [cm]

Module 2 Tray67 : z Local Fit

5

201
15p

10

P54

zLocal [cm]

Module 2 Tray71 : z Local Fit

2 + 0.0406

| )
10-8 6 -4-2 0 2 4 6 8 10

zLocal [cm]

Module 2 Tray75 : z Local Fit

e,
5

20

15

10

64

o il
-10-8 6 4 -2 0 2 4

6 8 10

zLocal [cm]

Module 2 Tray79 : z Local Fit

25pm

15p

10

1+ 0.0292

0 n A
-10-8 6 4-2 0 2 4 6 810

zLocal [cm]

Module 2 Tray64 : z Local Fit

zLocal [cm]

Module 2 Tray68 : z Local Fit

1sp 1 ]

b7 + 0.0R63

zLocal [cm]

Module 2 Tray72 : z Local Fit

P31

-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 2 Tray76 : z Local Fit

165

008 A 024 6 8 10

zLocal [cm]

Module 2 Tray80 : z Local Fit

75
S,

20,
15
10

B1E

] )
910-8-6-4-20 2 4 6 8 10

zLocal [cm]

Module 2 Tray65 : z Local Fit

B0¢€

zLocal [cm]

Module 2 Tray69 : z Local Fit

30,
25
20 '

15p UNTTN

321

zLocal [cm]

Module 2 Tray73 : z Local Fit

25
20
15p ol

10

Z0 = 00 + 0.03

22¢

zLocal [cm]

Module 2 Tray77 : z Local Fit

0 ]
-10-8-6 -4-20 2 4 6 810

30
25
20
15p

10F
2 + 0.07

a7

zLocal [cm]

Module 2 Tray81 : z Local Fit

U086 4 20 2 46 810

26C

8
6
4
2
0l

zLocal [cm]

A8 642024060810

Module 2 Tray66 : z Local Fit
208

B52

O e e )

zLocal [cm]

Module 2 Tray70 : z Local Fit

9|

201

15p

10

103

zLocal [cm]

Module 2 Tray74 : z Local Fit

5|

20

15

P92

0 L 4
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 2 Tray78 : z Local Fit

25
20
15p

10

P55

0 I ! |
-10-8 6 -4 -2 0 2 4 6 8 10

zLocal [cm]

Module 2 Tray82 : z Local Fit

308
25k
20
15p
10

L7 +0.0805

sk

of )
E)10-8-6-4-20 2 46 810

zLocal [cm]



Module 2 Tray83 : z Local Fit

25

20

15

10

Z0 = B4 + 0.0R56

zLocal [cm]

Module 2 Tray87 : z Local Fit

Z0= BO + 0.0348

zLocal [cm]

Module 2 Tray91 : z Local Fit

16 +0.028

86 42024 6 810

zLocal [cm]

Module 2 Tray95 : z Local Fit

6
4
2
)

-10

382

86 420246 810

zLocal [cm]

Module 2 Tray99 : z Local Fit

25pm

20

10

E)10

Z0 = D3 + 0.0R77

) )
86 -4-20 2 4 6 810

zLocal [cm]

Module 2 Tray84 : z Local Fit

25
20
LIl
1sf iy
10
b Z0=10.1410B2 + 0.0p37
v

zLocal [cm]

Module 2 Tray88 : z Local Fit

zLocal [cm]

Module 2 Tray92 : z Local Fit

25
20
15

10f
19 + 0.0p91

0 i ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 2 Tray96 : z Local Fit

24
22F
20
18p
16 ‘

L Z0=10 B3 + 0.084C

08 64202262810

zLocal [cm]

Module 2 Tray100 : z Local Fit

25
20,
15

10

P2t

9086 s 20 2 4 6810

zLocal [cm]

Module 2 Tray85 : z Local Fit

2
20
18
16

N DO 0

o

=

086 -4-202 46 81

zLocal [cm]

Module 2 Tray89 : z Local Fit

25
20

15p WIRLLL

26C

zLocal [cm]

Module 2 Tray93 : z Local Fit

30

25

15F R

10

23

zLocal [cm]

Module 2 Tray97 : z Local Fit

0 " ]
-10-8-6 -4-20 2 4 6 810

30

25

20

15p

10

281

zLocal [cm]

Module 2 Tray101 : z Local Fit

U086 a 20 2 46 810

20

15p

10

k24

0

zLocal [cm]

] il 1
-10-8-6 4-20 2 46 810

Module 2 Tray86 : z Local Fit

O e )

zLocal [cm]

Module 2 Tray90 : z Local Fit

538

zLocal [cm]

Module 2 Tray94 : z Local Fit

25
20
15p

10

b4 + 0.0R71

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 2 Tray98 : z Local Fit

6 B35
4|
2
0

3 0 )
-10-8 6 -4 2 0 2 4 6 8 10

zLocal [cm]

Module 2 Tray102 : z Local Fit

1=

0.8

0.6

0.4k

0.2p

E:10-8-6-4-20246810

zLocal [cm]



Module 2 Tray103 : z Local Fit

0.8

0.6}

0.4]

0.2

0

-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 2 Tray107 : z Local Fit

25

20

15

10

20=0 87 + 0.0R89

zLocal [cm]

Module 2 Tray111 : z Local Fit

1

(=]

8
6
4]
2
0!

08 6 420246 810

+ 0.0319(

zLocal [cm]

Module 2 Tray115 : z Local Fit

25

20

15)

10

O + 0.0351:¢

06420 24 6810

zLocal [cm]

Module 2 Tray119 : z Local Fit

25]

20]

15

10

P84

%

1 )
0-8-6-4-20 246 810

zLocal [cm]

Module 2 Tray104 : z Local Fit

zLocal [cm]

Module 2 Tray108 : z Local Fit

30

25

1 HM

15f ‘.‘

sk Z0=10 0P8 + 0.0p28

zLocal [cm]

Module 2 Tray112 : z Local Fit

25p

20 b

4 !

10

;£ Z0=10.0098p1 + 0.0277

0 L )
-10-8 6-4 -2 02 4 6 810

zLocal [cm]

Module 2 Tray116 : z Local Fit

90C

8
6
4
2
0086 20 2 A s 10

zLocal [cm]

Module 2 Tray120 : z Local Fit

5
20p

15

10F

sk Z0= B24
0 LE} [ )
-10-86-4-202 4 6 8 10

zLocal [cm]

Module 2 Tray105 : z Local Fit

25

15
10

B6€

R T

zLocal [cm]

Module 2 Tray109 : z Local Fit

25

20f j

|
15k [

58 + 0.0314

zLocal [cm]

Module 2 Tray113 : z Local Fit

25
20
L
1s5f W|H
10
} z0=¢ 51 + 0.0303¢
y

0 ] ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 2 Tray117 : z Local Fit

25
20
15p

10

0 +0.0p8t

U086 s 20 2 46 B 10

zLocal [cm]

Module 2 Tray106 : z Local Fit

zLocal [cm]

Module 2 Tray110 : z Local Fit

67¢

24
22
20
18

zLocal [cm]

Module 2 Tray114 : z Local Fit

P9O6

25
20 J
il A
15f |r|1| |
10 !
J z0=p.122319 + 0.0
A ’

0
-10-8 6 -4 20 2 4 6 8 1

zLocal [cm]

Module 2 Tray118 : z Local Fit

133

0

25

15p

10

064 20 2 46 810

zLocal [cm]

P59.




Module 2 Tray103 : z Local Fit

1=

0.8

0.6p=

0.4

0.2

0

-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 2 Tray107 : z Local Fit

20 ’

15k ”

10

20=0 87 + 0.0p89

zLocal [cm]

Module 2 Tray111 : z Local Fit

18
16
14

12
10

8
6
4]
2
0!

-10-8 -6 -4-2 0 2 4 6 8 1

zLocal [cm]

Module 2 Tray115 : z Local Fit

+ 0.0319(

0

25

20

10

E)10-8-6-4-20 2 4 6 81

zLocal [cm]

Module 2 Tray119 : z Local Fit

O + 0.0351:¢

0

25pm

15p

10

d
E)10-8-6-4-20 2 4 6 8 1

zLocal [cm]

P84

0

Module 2 Tray104 : z Local Fit

zLocal [cm]

Module 2 Tray108 : z Local Fit

30
25
20

15 i |"

0P8 + 0.0B28

zLocal [cm]

Module 2 Tray112 : z Local Fit

25p

20 b

4 !

10

st Z0=10.0098p1 + 0.0277

0 L )
-10-8 6-4 -2 02 4 6 810

zLocal [cm]

Module 2 Tray116 : z Local Fit

90C

8
6
4
2
0086 20 2 A s 10

zLocal [cm]

Module 3 Tray1 : z Local Fit

10
80
60
40

18t
20

90 E G 20 24 6810

zLocal [cm]

Module 2 Tray105 : z Local Fit

25

15

10

96™8"%

4202 46810

zLocal [cm]

Module 2 Tray109 : z Local Fit

B6€

25

20

15p

zLocal [cm]

Module 2 Tray113 : z Local Fit

58 + 0.0314

25
20 {
[
i
10
5 20 =( 31 + 0.0303<
0 [ 5 J
-:10-8-6 -4-20 2 4 6 8 10
zLocal [cm]
Module 2 Tray117 : z Local Fit
25
20
15
10
£ Z0= 0 + 0.028¢t
0 . L )
-10-8-6 -4 20 2 4 6 8 10
zLocal [cm]
Module 3 Tray2 : z Local Fit
100
80
60
40
Z0 46 + 0.0109¢
20
U686 4 20 2 46 810

zLocal [cm]

Module 2 Tray106 : z Local Fit

67¢
0
zLocal [cm]
Module 2 Tray110 : z Local Fit
24
22
20
18
16
14
12]
10
8
6
P96
4
2
108 0
zLocal [cm]
Module 2 Tray114 : z Local Fit
25
20 J
il A
st i
10 !
£ Z20=10 9 + 0.0433
| - ]
-10-8 6 -4 20 2 4 6 8 10
zLocal [cm]
Module 2 Tray118 : z Local Fit
25
20
15
10
& b1 + 0.0259
O . )
-10-8 6 -4 -2 0 2 4 6 8 10
zLocal [cm]
Module 3 Tray3 : z Local Fit
100
80
60
40k
Z0=(0.002134 = 0.0110:
20
0 ]
-10-8 6 420 2 4 6 8 10

zLocal [cm]



Module 3 Tray4 : z Local Fit

100

80 il 1| |\‘.

Z0 = O + 0.0101:

zLocal [cm]

Module 3 Tray8 : z Local Fit

zLocal [cm]

Module 3 Tray12 : z Local Fit

100

80

60

+ 0.0114:
20f

v

0 L ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 3 Tray16 : z Local Fit

90p
80F
70F
60p
50F
40p
of 70 =
20p
10F

8 +0.0[129

N6 420 24 6810

zLocal [cm]

Module 3 Tray20 : z Local Fit

1=

0.8

0.6

0.4k

0.2p

-10-8 6 4-2 0 2 4 6 810

zLocal [cm]

Module 3 Tray5 : z Local Fit

sof
70k m
) |
s0f
20
30F
Z20= 10 + 0.00.22

20
10

O S S T}

zLocal [cm]

Module 3 Tray9 : z Local Fit

100p= ‘
80

60

a0

Z0 =(.000092 + 0.0117-

20

g S R SR T

zLocal [cm]

Module 3 Tray13 : z Local Fit

100p
8o
60
a0k

111

20

0 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 3 Tray17 : z Local Fit

80
60
40pF

11c

20

0086 s 202 4 6810

zLocal [cm]

Module 3 Tray21 : z Local Fit

90f
80
70F
60
50f
40F
0F z0=
20p
10

i )
913-8-6-4-20 2 4 6 8 10

6 + 0.0[128

zLocal [cm]

Module 3 Tray6 : z Local Fit
100F

80

60f w |

a0

Z0 = 40 + 0.0116:

20

O R T

zLocal [cm]

Module 3 Tray10 : z Local Fit
90

80
70k

60
50
40

30f
145

zLocal [cm]

Module 3 Tray14 : z Local Fit

100

a0
Z20=10 43 + 0.0114-

20

‘v

0 s 1
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 3 Tray18 : z Local Fit

100
sop
60
a0

Z0 =0.029801 + 0.0122¢
20f

U084 20 246 810

zLocal [cm]

Module 3 Tray22 : z Local Fit

1=

0.8

0.6

0.4f

0.2

-010-8-6-4-20 2 46 810

zLocal [cm]

Module 3 Tray7 : z Local Fit

100k
sof
sof
a0k

Z0 = (.03955]1 + 0.00P8¢€

20

O R e T

zLocal [cm]

Module 3 Tray11 : z Local Fit

90
80
70
60p
50
40
30

18 + 0.0[122

zLocal [cm]

Module 3 Tray15 : z Local Fit

80
70
60p
508
a0F
30F
] 88 + 0.0130:
10

0 L A ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 3 Tray19 : z Local Fit

100

60

a0k

20

064 20 2 46 810

zLocal [cm]

Module 3 Tray23 : z Local Fit

100

80

60

a0p

201

U664 20 2.4 6 810

zLocal [cm]



Module 3 Tray24 : z Local Fit

100

1| Rl
8of Il
60
a0k
Z0 = B7 + 0.0L11
20

zLocal [cm]

Module 3 Tray28 : z Local Fit
100

8of
60f
a0f
Z0 =40.1608p7 + 0.017
20p

zLocal [cm]

Module 3 Tray32 : z Local Fit

100

Z0 = D8 + 0.0[L18
20f

T

0 L A
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 3 Tray36 : z Local Fit

aof
sof
I

70k i
60F
s0f
40k
3F z0=10
20F
10

61 + 0.0125

N0 6420 24 6810

zLocal [cm]

Module 3 Tray40 : z Local Fit

90F
80F

70f {L
60F 1Y W
50f

40f
3of
20F
10F

06 s 20 24 6810

16 + 0.0[L27

zLocal [cm]

Module 3 Tray25 : z Local Fit

80
70
60
50
40
30
20
10

Z0 =10 Y6 + 0.0

121

zLocal [cm]

Module 3 Tray29 : z Local Fit

08 642024681

100

80

104

zLocal [cm]

Module 3 Tray33 : z Local Fit

100

80

60

40

20

107

zLocal [cm]

Module 3 Tray37 : z Local Fit

100

80

60

40

20

Il
It

Z0 =10.1869b4 + 0.0

008 202 4 6 810

zLocal [cm]

Module 3 Tray41 : z Local Fit

102

100

80,

60

40

20

Z0 =10.239903 * 0.0

0

-10-8 6-4-20 2 4 6 8 1

zLocal [cm]

2%

0

Module 3 Tray26 : z Local Fit

20k
80f
70F
60F
50f
20F
30F Z0 =10.248969 + 0.0[11€
20F
10f

T

zLocal [cm]

Module 3 Tray30 : z Local Fit

4 +0.0118

zLocal [cm]

Module 3 Tray34 : z Local Fit

100

80f | F
60f
a0f
Z0 = 379 + 0.0L1€
20f
0

zLocal [cm]

Module 3 Tray38 : z Local Fit

100

80

60

40k

20

U084 20 2 46 810

zLocal [cm]

Module 3 Tray42 : z Local Fit

3 £0.0114

O8G0 2 4 6 810

zLocal [cm]

Module 3 Tray27 : z Local Fit

.0[L05

zLocal [cm]

Module 3 Tray31 : z Local Fit
100fF

80
60

a0k

124993 + 0.0117

zLocal [cm]

Module 3 Tray35 : z Local Fit

I

0.8

0.6

0.4

0.2

-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 3 Tray39 : z Local Fit

80P
70
60f l‘ FIJ‘ ‘\‘
| |l |
50
40p
30
b Z0=10 D8 + 0.0[L39
10
0

zLocal [cm]

Module 3 Tray43 : z Local Fit

100

80

60

a0f

201

U664 20 2 46 810

zLocal [cm]



Module 3 Tray44 : z Local Fit

12

100k
Bk

sof \

60

P7 +0.0p98

zLocal [cm]

Module 3 Tray48 : z Local Fit

zLocal [cm]

Module 3 Tray52 : z Local Fit

100

Z0 =0.016385 + 0.0117
20f

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 3 Tray56 : z Local Fit
100)

80|
60)
40)

04:
20

zLocal [cm]

Module 3 Tray60 : z Local Fit

80F
4
1 | |

086 4202460810

70
60
50
40
30
+0.0322°

20

zLocal [cm]

Module 3 Tray45 : z Local Fit
8o

70k
60
50
40
30
20p
10

zLocal [cm]

Module 3 Tray49 : z Local Fit

114

zLocal [cm]

Module 3 Tray53 : z Local Fit

100
80

60

D7 + 0.0[10&

0 B 5 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 3 Tray57 : z Local Fit

100
80
60
40pF

110

20

0086 s 20 2 4 6810

zLocal [cm]

Module 3 Tray61 : z Local Fit
90,

80
70F L] g

T
60F I
50k
40F

30
20

Z20=L B6 + 0.0[L2E

10

0 ‘ = )
08 64202462810

zLocal [cm]

Module 3 Tray46 : z Local Fit

70k TS

11+ 0.0

117

AME6 420246181

zLocal [cm]

Module 3 Tray50 : z Local Fit

90
80
70
60
50
40p
30

138

zLocal [cm]

Module 3 Tray54 : z Local Fit

12C

zLocal [cm]

Module 3 Tray58 : z Local Fit

0 ]
-10-8-6 -4-20 2 4 6 810

100

60

40

Z0 = 40 + 0.0]

15:

96864 20

zLocal [cm]

Module 3 Tray62 : z Local Fit

24 6 8 10

60

a0k

20

zLocal [cm]

) Qe 1
E)10-8-6-4-20 2 46 810

Module 3 Tray47 : z Local Fit

12

100
Il

sof Il

60

zLocal [cm]

Module 3 Tray51 : z Local Fit

[LO6

10

80

60

a0p

zLocal [cm]

Module 3 Tray55 : z Local Fit

.OL11

sof
70F
60F
s0f
a0F
30F
20F

10

0
-10-8 6 -4 20 2 4 6 8 1

zLocal [cm]

Module 3 Tray59 : z Local Fit

b + 0.0129:

0

100

80

60

a0k
Z0 = .000784 + 0.0
20p

E:’10-8-6-4-2024681

zLocal [cm]

Module 3 Tray63 : z Local Fit

13

0

100

80

60

a0f

201

0 |1 9
-10-8 6 4 -20 2 4 6 8 1

zLocal [cm]

111

0



Module 3 Tray64 : z Local Fit

100

8op H

Z20=L D3 + 0.0[L16

zLocal [cm]

Module 3 Tray68 : z Local Fit
120p

100
f
80f di

60

/3 +0.0121

zLocal [cm]

Module 3 Tray72 : z Local Fit

100

80

60

a0f

0.029313 + 0.00122

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 3 Tray76 : z Local Fit

80p
70
60p
50p
40
30F
] 6 + 0.0[L36
10F

A6 4202 a6 810

zLocal [cm]

Module 3 Tray80 : z Local Fit

100k
sof
sof
4s0f

19 + 0.0[L37

201

5 | ]
E)10-8-6-4-20 2 4 6 810

zLocal [cm]

Module 3 Tray65 : z Local Fit

90f
80F LT
70- \‘ IR
60F
50k
a0
30F Z0 =10
20f

b7 + 0.0[L15

zLocal [cm]

Module 3 Tray69 : z Local Fit

100

80

112

zLocal [cm]

Module 3 Tray73 : z Local Fit

100p
8o
60
a0k

g8 + 0.0313(
20f

W,

0 = A
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 3 Tray77 : z Local Fit

120
100
80
60
40pF

4 + 0.0[0¢
20F

e 202 4 6 810

zLocal [cm]

Module 3 Tray81 : z Local Fit
8o

70F
60f
s0f
20F
30F
144
20F

10

& A )
913-8-6-4-20 2 4 6 8 10

zLocal [cm]

Module 3 Tray66 : z Local Fit

y9 + 0.0011¢

9686 4 202 406 810

zLocal [cm]

Module 3 Tray70 : z Local Fit

0F 70=10 D7 + 0.0[12¢

zLocal [cm]

Module 3 Tray74 : z Local Fit

100

80

60

a0

Z0 =0.009433 + 0.0107:

20

v

0 r ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 3 Tray78 : z Local Fit

sof
60
a0

12C

20

j T |
E)ZI.O-8-6-4-20 2 46 810

zLocal [cm]

Module 3 Tray82 : z Local Fit

a0p

9 + 0.0{10€

20

U686 s 20 2.4 6 810

zLocal [cm]

Module 3 Tray67 : z Local Fit

100

80

60

a0f

20

0

0

6 +0.0111

O s B R R T

zLocal [cm]

Module 3 Tray71 : z Local Fit

.0[L30

zLocal [cm]

Module 3 Tray75 : z Local Fit

90k
80f
70F
60F
s0f
a0f
30F
20f
10f

okl

s

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 3 Tray79 : z Local Fit

118

100

80

a0k

20

64 20 246 810

zLocal [cm]

Module 3 Tray83 : z Local Fit

100

80

60

a0p

201

0

0.1941B6 + 0.0

0864202460810

zLocal [cm]

107




Module 3 Tray84 : z Local Fit

100
80

60

Z0 =10.1588]19 * 0.0[L04

zLocal [cm]

Module 3 Tray88 : z Local Fit

100

8of
60f
a0p

0.1078p8 + 0.0[L15
20

O R S T

zLocal [cm]

Module 3 Tray92 : z Local Fit

100k
sof
60f
a0p

5 +0.0113
20f

N

0 8 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 3 Tray96 : z Local Fit

80p
70k
60p
50p
a0f
30
ok 41 + 0.0135
10

»

A6 s 20246 810

zLocal [cm]

Module 3 Tray100 : z Local Fit

10
sof
sof
4sof

112
20f

o il ] 1
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 3 Tray85 : z Local Fit

90
80 ‘
70 ‘”‘

60 T
50
40
zg Z0 = {0.1609p2 + 0.0[L2€
10

I i

O S T

zLocal [cm]

Module 3 Tray89 : z Local Fit

100

|11,
8of 1]

20 = 59 + 0.0p9¢

zLocal [cm]

Module 3 Tray93 : z Local Fit

100
80
60
40

Z0=10.1744b1 + 0.0102
20f

0 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 3 Tray97 : z Local Fit

100
80
60
40

11e
20f

9086 A T 024 6 8 10

zLocal [cm]

Module 3 Tray101 : z Local Fit
9OF
80F
70k

60f \]
50
40
30

2k Z0=10 D8 + 0.0[128

10

I, - )
913-8-6-4-20 2 4 6 8 10

zLocal [cm]

Module 3 Tray86 : z Local Fit
70F

60
50 e
20F
30f

20F 70 =40 85 + 0.0[L3¢&

10

0864202 461810

zLocal [cm]

Module 3 Tray90 : z Local Fit

8o
70F
60F
50f
20F
30f

b0 + 0.0[137

zLocal [cm]

Module 3 Tray94 : z Local Fit

100
80
60
40

Z0 =10.1429b0 + 0.0[10%
20f

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 3 Tray98 : z Local Fit

100p
sof
60
a0

Z0 = 82 +0.0112
20f

UG8 s 20 2 46 B 10

zLocal [cm]

Module 3 Tray102 : z Local Fit

1=

0.8

0.2

-010-8-6-4-20 2 46 810

zLocal [cm]

Module 3 Tray87 : z Local Fit

zLocal [cm]

Module 3 Tray91 : z Local Fit

6 + 0.0[L26

zLocal [cm]

Module 3 Tray95 : z Local Fit

90
80p
70
60p
50
40
“F zo=
20
10

b3 + 0.0[L13

0 T 1
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 3 Tray99 : z Local Fit

100

80

60

a0k

20

e 420 2 46 810

zLocal [cm]

Module 3 Tray103 : z Local Fit

1=

0.8

0.6

0.4k

0.2p

E:10-8-6-4-20246810

zLocal [cm]



Module 3 Tray104 : z Local Fit

zLocal [cm]

Module 3 Tray108 : z Local Fit

106

100

80

60

a0f

208

-010-8-6-4-20 2 4 6 8 1

zLocal [cm]

Module 3 Tray112 : z Local Fit

112

100

Il
sof i
60f
a0f
0= D7 + 0.0
20f
] k

zLocal [cm]

Module 3 Tray116 : z Local Fit

0 s A
-10-8 6 -4-2 0 2 4 6 810

101

80
7of Wil LIR
s0f |l
s50f
408
30
20
10

zLocal [cm]

Module 3 Tray120 : z Local Fit

N0 6420 246810

123

100fF

80

60

4s0f

201

o o) i)
-10-8 6 -4-2 0 2 4 6 8 1

zLocal [cm]

135

0

Module 3 Tray105 : z Local Fit

zLocal [cm]

Module 3 Tray109 : z Local Fit

100p=

80 Wl

a0

Z0 =10.0819%6 + 0.0[111

zLocal [cm]

Module 3 Tray113 : z Local Fit

100

80

a0k
8 + 0.0306¢

20

0 = A
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 3 Tray117 : z Local Fit

111

0086 s 202 4 6 810

zLocal [cm]

Module 3 Tray106 : z Local Fit

90
80
70
60
50
40
30
20
10

3 + 0.0

128

g |
E)13-8-6-4-20 2 46 81

zLocal [cm]

Module 3 Tray110 : z Local Fit

100

60

0.0397p8 + 0.0

zLocal [cm]

Module 3 Tray114 : z Local Fit

100

80

a0

20

114

zLocal [cm]

Module 3 Tray118 : z Local Fit

0 ]
-10-8-6 -4-20 2 4 6 810

100

80

60

a0

20

105

zLocal [cm]

U0 e G 0 2 46 810

Module 3 Tray107 : z Local Fit

100k
sof
sof
a0f

Z0 = {0.088540 * 0.0L27

20

R e T

zLocal [cm]

Module 3 Tray111 : z Local Fit

15¢

zLocal [cm]

Module 3 Tray115 : z Local Fit

80F
70k ‘ I
60
50f
40F
*F 20=p b4 + 0.0[L16
20p
10

I i

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 3 Tray119 : z Local Fit

100

80

60

a0k

20

64 20 246 810

zLocal [cm]



Module 3 Tray104 : z Local Fit

106

zLocal [cm]

Module 3 Tray108 : z Local Fit

100

80

60

a0f

208

o ) ik

112

-10-8 6 -4-2 0 2 4 6 8 1

zLocal [cm]

Module 3 Tray112 : z Local Fit

100

101

Il
sof i
60f
a0f
0= D7 + 0.0
20f
] k

zLocal [cm]

Module 3 Tray116 : z Local Fit

0 s A
-10-8 6 -4-2 0 2 4 6 810

80
7of Wil LIR
s0f |l
s50f
408
30
20
10

123

zLocal [cm]

Module 4 Tray1l : z Local Fit

N0 6420246 810

80F
70f
60F =
s0f
a0k
30f
ob Z0= % + 0.01

10p

16¢

0

ik iy
-10-8 6 -4-2 0 2 4 6 8 1

zLocal [cm]

Module 3 Tray105 : z Local Fit

zLocal [cm]

Module 3 Tray109 : z Local Fit

100p=

80 Wl

a0

Z0 =10.0819%6 + 0.0[L11

zLocal [cm]

Module 3 Tray113 : z Local Fit

100

80

a0k
8 + 0.0306¢

20

0 = A
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 3 Tray117 : z Local Fit

111

0086 s 202 4 6 810

zLocal [cm]

Module 4 Tray2 : z Local Fit
90F

32- \J\..

60f
50
40
9F 70 =
20p
10

. Ll )
913-8-6-4-20 2 4 6 8 10

7 +0.0116-

zLocal [cm]

Module 3 Tray106 : z Local Fit

3 + 0.0

128

g |
E)13-8-6-4-20 2 46 81

zLocal [cm]

Module 3 Tray110 : z Local Fit

100

60

0.0397p8 + 0.0

zLocal [cm]

Module 3 Tray114 : z Local Fit

100

80

a0

20

114

zLocal [cm]

Module 3 Tray118 : z Local Fit

0 ]
-10-8-6 -4-20 2 4 6 810

100

80

60

a0

20

105

zLocal [cm]

Module 4 Tray3 : z Local Fit

U0 EE G 0 2 46 810

100k

80

60

a0k

20

104

068G 20 2

zLocal [cm]

46 810

Module 3 Tray107 : z Local Fit

100k
sof
sof
a0f

Z0 = {0.088540 * 0.0127

20

O e S T

zLocal [cm]

Module 3 Tray111 : z Local Fit

15¢

zLocal [cm]

Module 3 Tray115 : z Local Fit

80F
70k ‘ I
60
50f
40F
*F 20=p b4 + 0.0[L16
20p
10

i

0 L ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 3 Tray119 : z Local Fit

100

80

60

a0k

20

U064 20 246 810

zLocal [cm]

Module 4 Tray4 : z Local Fit

8of
70f
60F
50f
a0f
30f
20k 0 + 0.0[L35
10F

o | i 1
-10-8 6 4 -20 2 4 6 8 10

zLocal [cm]



Module 4 Tray5 : z Local Fit

70
¥ O
50
20f
30
200 Z0 =

10

1+0.0

0,

e 4 2024 6810

139

zLocal [cm]

Module 4 Tray9 : z Local Fit

90
80
70
60p
50
40
30

20¢

zLocal [cm]

Module 4 Tray13 : z Local Fit

9
80f
70F
60F
50
a0f
30F
20f

10
i

o : ]
108 6420 2 4 6 810

D2 + 0.00119

zLocal [cm]

Module 4 Tray17 : z Local Fit

aof
sof
70F
60F
s0f
20F
30F
20f
10f

o W ' )
-10-8 6 4-2 0 2 4 6 810

108

zLocal [cm]

Module 4 Tray21 : z Local Fit

70

60
50
20f
30f
20 Z0=10

10

0

086 4202460810

50 + 0.0[138

zLocal [cm]

Module 4 Tray6 : z Local Fit
8OF

701k
60
50
40

30

Z0 = 40.0468p0 * 0.0[L4&

20
10

e S T

zLocal [cm]

Module 4 Tray10 : z Local Fit
T0F

60f
50
20F
30F

142

zLocal [cm]

Module 4 Tray14 : z Local Fit

90p
80p
70k ‘II‘,
60 W

50
40F
30
20
10

Z0 = A7 +0.0124¢

0 . = ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

<

odule 4 Tray18 : z Local Fit

80p
701k
60
50
40p
30
20
10

.055893 + 0.0135¢

0086 s 2024 6810

zLocal [cm]

Module 4 Tray22 : z Local Fit

1=

0.8

0.6

0.4f

4 6 8 10

R
(=]
ob
N 3
I3
Y 3
Of=
N

zLocal [cm]

Module 4 Tray7 : z Local Fit

40 + 0.03129:

9686 4 20 2 406 810

zLocal [cm]

Module 4 Tray11 : z Local Fit

D4 + 0.0(127

zLocal [cm]

Module 4 Tray15 : z Local Fit

70f
60F
sof
40F
3of
20F Z0
10F

145

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 4 Tray19 : z Local Fit

9of
s0f
70 1T, ‘I
60F
50f
20F
30F
20k
10f

Z0 = O + 0.0138"

d | )
E)ZI.0-8-6-4-20 2 46 810

zLocal [cm]

Module 4 Tray23 : z Local Fit
90,

80f
70F
60F
50f
20k

30
20

80 + 0.0112¢

10

U084 20 246 810

zLocal [cm]

Module 4 Tray8 : z Local Fit

Z0 = 43 + 0.0128:

zLocal [cm]

Module 4 Tray12 : z Local Fit
80

70 ‘I‘n.‘\
of I
50p
40
30
Z0 = 5 + 0.0121¢
20p
10

Il he, ]
-010-8-6-4-202 4 6 8 1

zLocal [cm]

Module 4 Tray16 : z Local Fit

70
60
50
40
30
20k Z0 =

10

18 + 0.0[L34

0 ] .- )
108 64202 46 8 10

zLocal [cm]

Module 4 Tray20 : z Local Fit

1=

0.8

0.6

0.4

0.2

910-8-6-4-20246810

zLocal [cm]

Module 4 Tray24 : z Local Fit

sof
70f LT I
60F
s50f
20F
30k
] 58 + 0.0[122
10F

0 : 2 '
Y0864 202461810

zLocal [cm]



Module 4 Tray25 : z Local Fit

70

"t i
50 ﬂ | H

a0f
30f

20F 70 = 76 + 0.0(157

zLocal [cm]

Module 4 Tray29 : z Local Fit

80

7of LI,

ok Ul

50

40

F zo={o 78 + 0.0[22
20

10

zLocal [cm]

Module 4 Tray33 : z Local Fit

sof
sof
70 l ‘

g i

50

a0f

F z0=D 78 + 0.0L12
20

10

0 - ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 4 Tray37 : z Local Fit

sof
70F
60F
s0f
20F

zz 0.209447 + 0.0/134

10

N6 420 246 810

zLocal [cm]

Module 4 Tray41 : z Local Fit

8o
70F
60F
0 3
a0f
30F
ok Z20=

10

OD7 + 0.0135

06 s 20 24 6810

zLocal [cm]

Module 4 Tray26 : z Local Fit

70f {
60f

'
sof
a0f
30f

b 0= ¥4 +0.0[32

10

zLocal [cm]

Module 4 Tray30 : z Local Fit

60

JIA L
50 i H“‘
40
30p

20k 70 = 6R0 + 0.0[L.34

zLocal [cm]

Module 4 Tray34 : z Local Fit

80
70F
60F
50
a0
30
ok Z0 =10.297331 + 0.0137
10F

0 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 4 Tray38 : z Local Fit

Z0 = 489 + 0.0f14E

Mos 6420226810

zLocal [cm]

=

odule 4 Tray42 : z Local Fit

80
70,
60,
50,
40
30
20

13E

10

0 : : ]
0864202 4 6 8 10

zLocal [cm]

Module 4 Tray27 : z Local Fit

3F 70 = 10.1089F7 + 0.0[11¢

HWEH6 4202461810

zLocal [cm]

Module 4 Tray31 : z Local Fit

8o
70F
60F
50f
a0F
30p

13€

zLocal [cm]

Module 4 Tray35 : z Local Fit

1=

0.8

0.6p

0.4

0.2

-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 4 Tray39 : z Local Fit

9of
s0f
70k
60F
50f
20F
30F
20k
10f

P5 + 0.01131

- 3 )
E)ZI.0-8-6-4-20 2 46 810

zLocal [cm]

Module 4 Tray43 : z Local Fit
90f
80F
708
60F
S0f
40F
30F
20p

911+ 0.0114

10

0 i . 1
-10-8-6 4-20 2 46 810

zLocal [cm]

Module 4 Tray28 : z Local Fit

90
80
70f L 1k
60 “‘

50
40
30

Z0=10 D8 + 0.0[L.21

zLocal [cm]

Module 4 Tray32 : z Local Fit

Z0 = B3 + 0.0[L32

zLocal [cm]

Module 4 Tray36 : z Local Fit
80|

70F
60F
s0f
a0p
30f
2ok 20 =

10

6 + 0.0144

0 : L )
08 6-4202 46 8 10

zLocal [cm]

Module 4 Tray40 : z Local Fit

708
60
508
40
30
20 Z0 =
10

06 4 20 2 46 810

zLocal [cm]

Module 4 Tray44 : z Local Fit

80f
70F
60F
s50F
a0k
30k
b PO + 0.0[L30
10F

O 20 2.4 6 810

zLocal [cm]



Module 4 Tray45 : z Local Fit

70p
60f
sof
a0f
30f

143

zLocal [cm]

Module 4 Tray49 : z Local Fit

ElY
80F
d [
ook g
50
40
30

Y5 + 0.0[L39

zLocal [cm]

Module 4 Tray53 : z Local Fit

sof
70f
60F
s0f
40f
30f
b Z0 =10.1514p4 + 0.00126
10F

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 4 Tray57 : z Local Fit

80
70
60
508
40
zz 125:
10

dal Al 1
E:'10-8 6 -4-20 2 4 6 810

zLocal [cm]

Module 4 Tray61 : z Local Fit
70p

60p
50
4of
30
200 Z0 =

10

9 + 0.0[L32

i ]
E)10-8 6 -4-20 2 4 6 810

zLocal [cm]

Module 4 Tray46 : z Local Fit

70

60

50

40p

30pF

20F 20 =40.1378p7 + 0.0(133

10

913-8-6-4-202 4 6 8 1

zLocal [cm]

Module 4 Tray50 : z Local Fit

T0F
60
50

Al
a0f

30

zLocal [cm]

Module 4 Tray54 : z Local Fit

B7 + 0.0[L4C

90p
80p
70k
60
50
40F
30
20
10

i

0 A
-10-8 6-4-20 2 4 6 8 1

zLocal [cm]

Module 4 Tray58 : z Local Fit

i€

0

%864 20246081

zLocal [cm]

=

odule 4 Tray62 : z Local Fit

122

0

8of
70F
60F
so0f
40F

30f
0.0506P1 + 0.0
20F
10F

0 L

116

-10-8 6-4-20 2 4 6 81

zLocal [cm]

0

Module 4 Tray47 : z Local Fit

90F
sof
70F
60F
s0f
20F
30f

zLocal [cm]

Module 4 Tray51 : z Local Fit

70k

60

50

20k

30

138

-10 -8 -6 4 6 81

zLocal [cm]

Module 4 Tray55 : z Local Fit

70F
60 J
sof 1L
40fF
30f
20 Z0=0

10

144

zLocal [cm]

Module 4 Tray59 : z Local Fit

0 ]
-10-8-6 -4-20 2 4 6 810

80
701
60
50
40
30
20
10

12€

zLocal [cm]

Module 4 Tray63 : z Local Fit

U0 8 s 20 2 46 810

sof
0
60F
s0f
20F
3ok
20F
10f

12C

0

zLocal [cm]

Y Sl 1
-10-8 -6 4-20 2 4 6 810

Module 4 Tray48 : z Local Fit

126

zLocal [cm]

Module 4 Tray52 : z Local Fit
90F
80
70F i i‘ [l {
oof L[|
50

a0f
30F

B5 + 0.0[L15

zLocal [cm]

Module 4 Tray56 : z Local Fit
80|

70
60f Hnlu
50
a0F
30
20k Z0=0

10

2 +0.0127:

&

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 4 Tray60 : z Local Fit

23 +0.0[123

4 6 8 10

zLocal [cm]

Module 4 Tray64 : z Local Fit
90F
80
70k
60f
50
40p

30F
20p
10

. 2 )
E)12)-8-6-4-20246810

021

zLocal [cm]



Module 4 Tray65 : z Local Fit

zLocal [cm]

Module 4 Tray69 : z Local Fit

b1 + 0.0122

zLocal [cm]

Module 4 Tray73 : z Local Fit
90F

80F
70 I
60f
50
a0f
30
A 21 + 0.0107
10

i

0! i ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 4 Tray77 : z Local Fit
9

80

70
60f
508
40
30
20f

8 +0.0124"

10

N6 420 246810

zLocal [cm]

Module 4 Tray81 : z Local Fit
70p

60F
50f
4a0f
30f
20 Z0 = {0.2705{18 + 0.0139

10

06 420 24 6810

zLocal [cm]

Module 4 Tray66 : z Local Fit

70k
60F
50 i
a0
30

20F Z0= b7 0.0

10

zLocal [cm]

Module 4 Tray70 : z Local Fit

12¢

80
70F
60 ‘\Jll\
50f
40
30f

zLocal [cm]

Module 4 Tray74 : z Local Fit
90

13C

80p
70
60
50
40
30
20

10

zLocal [cm]

<

odule 4 Tray78 : z Local Fit

0 ]
-10-8 6-4-20 2 4 6 8 10

28¢

90p
80pF
70
60
50
40
30k
20
10

0

zLocal [cm]

Module 4 Tray82 : z Local Fit

%086 -4 2024 6810

12C

80
I 3
60
50F
40
30F
oF 20=10.239164 £ 0.0
10

913-8-6-4-202 4 6 81

zLocal [cm]

117

0

Module 4 Tray67 : z Local Fit

90k
sof
70f
60
s0f
a0F
30f

Y9 +0.0121

AW EH6 4202461810

zLocal [cm]

Module 4 Tray71 : z Local Fit

zLocal [cm]

Module 4 Tray75 : z Local Fit
8OF

i 3
60F
s0f
20f
3of
20k Z0 = (.0069
10

7 +0.0135:

v

0 L ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 4 Tray79 : z Local Fit

9of
s0f
70F
60F
s0f
20F
30F
20F
10f

73 +0.014C

U084 20 24 6 810

zLocal [cm]

Module 4 Tray83 : z Local Fit

0.238305 + 0.0125

U084 20 2 46 810

zLocal [cm]

Module 4 Tray68 : z Local Fit

zLocal [cm]

Module 4 Tray72 : z Local Fit

132

90

80p

70 | im J
H]

60

50

40p

30F

zLocal [cm]

Module 4 Tray76 : z Local Fit

110

60

a0f
30F

20 Z0 =

10

L
0 B L
-10-8 6 -4 20 2 4 6 8 1

zLocal [cm]

Module 4 Tray80 : z Local Fit

OL72

0

90F
sof
70f
eof AL

UNN
50
40p
30
b Z0= 17 + 0.0
10

<l
E:’10-8-6-4-2024681

zLocal [cm]

Module 4 Tray84 : z Local Fit

134

0

90
80F
70
60F
50
a0fF
30
] 5+0.0
10

O I} '
-10-8 6 4 -20 2 4 6 8 1

zLocal [cm]

17

0



Module 4 Tray85 : z Local Fit

B4 + 0.01132

zLocal [cm]

Module 4 Tray89 : z Local Fit

114

zLocal [cm]

Module 4 Tray93 : z Local Fit

9of
80
70F
60F
50k
a0f
30F
20f
10f

Z0 = /9 + 0.0[L25

| .

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 4 Tray97 : z Local Fit
90F

sof
70F
60F
s0f
20f
30f
20f
10f

4171 + 0.0146

g )
E)10-8-6-4-20 2 4 6 810

zLocal [cm]

Module 4 Tray101 : z Local Fit

60
50
40
30

¥ z0=
10

163

o by )
E)10-8 6 -4-20 2 4 6 810

zLocal [cm]

Module 4 Tray86 : z Local Fit

16C

zLocal [cm]

Module 4 Tray90 : z Local Fit
T0F

60f
50
20F
30F

15C

zLocal [cm]

Module 4 Tray94 : z Local Fit

80
70k “L

oo} I
50
40
30
2 Z0 =10.1829p9 + 0.0[123
10

0 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 4 Tray98 : z Local Fit

80
70
60
50
40

30
13 +0.00.3C

4 6 8 10

zLocal [cm]

Module 4 Tray102 : z Local Fit

1=

0.8

4 6 8 10

R
(=]
ob
N 3
I3
Y 3
Of=
N

zLocal [cm]

Module 4 Tray87 : z Local Fit
90

80
70k L
6ok \FW |
50
40

30

Z0 = 663 + 0.011123

zLocal [cm]

Module 4 Tray91 : z Local Fit

0k
60
(i
40k
30

20F 70 = 81 + 0.0155

zLocal [cm]

Module 4 Tray95 : z Local Fit

80p
70
60
50
40|
30

20| 333 + 0.014¢€

10

0 b M 1
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 4 Tray99 : z Local Fit

9of
s0f
70k
60F
50f
20F
30F
20k
10f

Z0 = {0.0969p6 + 0.0[151

U0 8 s 20 2 4 6 810

zLocal [cm]

Module 4 Tray103 : z Local Fit

1=

0.8

0.2

-10-8 -6 4-20 2 46 810

zLocal [cm]

Module 4 Tray88 : z Local Fit

zLocal [cm]

Module 4 Tray92 : z Local Fit
90k
80
70F
60f
50
40

30f

123

zLocal [cm]

Module 4 Tray96 : z Local Fit

70
60p
508
40
30
20 Z0 =
10

B4 + 0.0L41

0 ¥ i )
-10-8 -6 -4 20 2 46 810

zLocal [cm]

Module 4 Tray100 : z Local Fit
80F

708
60
508
a0k
30
20k Z0 =

10

3 +0.0[L30

(gt
4 6 8 10

E:'10-8 6 -4-20 2

zLocal [cm]

Module 4 Tray104 : z Local Fit

8o
70F
60F
s0f
a0F
30F

117
208

10

0 ) a )
10864202 46 8 10

zLocal [cm]



Module 4 Tray105 : z Local Fit

zLocal [cm]

Module 4 Tray109 : z Local Fit

D2 + 0.01132

0.1800p2 + 0.0[L17

zLocal [cm]

Module 4 Tray113: z Local Fit

80
70
60
50
40
30
20
10

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 4 Tray117 : z Local Fit

0.0259p2 + 0.0[L26

90|
80
70
60
50
40
30
20
10

o j 3
-10-8 6 -4-2 0 2 4 6 8 1

zLocal [cm]

B5 + 0.0[112

0

Module 4 Tray106 : z Local Fit

70fk
60fF

!
sok ‘ Ul |
a0f
30
200 Z0=40

10

9

zLocal [cm]

Module 4 Tray110 : z Local Fit

136

zLocal [cm]

Module 4 Tray114 : z Local Fit

41

90,
80
70F
60F
50
a0f
30
20k
10F

A "

0
-10-8 6-4-20 2 4 6 8 1

zLocal [cm]

Module 4 Tray118 : z Local Fit

11s

0

90F
80fF
70k . .\h
60 !
50
a0f
30F
20

10
o y o
-10-8 6-4-20 2 4 6 81

zLocal [cm]

132

0

Module 4 Tray107 : z Local Fit

Z0 = 6ft1 + 0.01.34

zLocal [cm]

Module 4 Tray111 : z Local Fit

zLocal [cm]

Module 4 Tray115 : z Local Fit

80
70|
60|
50|
40
30|

2 14 +0.0127

10

0 'y i 1
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 4 Tray119 : z Local Fit

sof
70F
60f
sof
20
3ok
ok 0.0808)0 + 0.0(131

10

! | 1
E)ZI.0-8-6-4-20 2 46 810

zLocal [cm]

Module 4 Tray108 : z Local Fit

13 + 0.0[L20

zLocal [cm]

Module 4 Tray112 : z Local Fit

3 £ 0.0L15

zLocal [cm]

Module 4 Tray116 : z Local Fit
70,

60F
50p \‘H"
20f

20 Z0 =40.1288f3 + 0.0[L50

J I
0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 4 Tray120 : z Local Fit

70
60
508
a0k
30k
20k Z0 =

10

142

064 20 246 810

zLocal [cm]



Module 4 Tray105 : z Local Fit

zLocal [cm]

Module 4 Tray109 : z Local Fit

. Z0=410 D2 + 0.0[L32

zLocal [cm]

Module 4 Tray113 : z Local Fit

Z0 = {0.1800p2 + 0.0[L17

80
70
60
50
40
30
20
10

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 4 Tray117 : z Local Fit

0.0259p2 + 0.0[L26

90|
80
70
60
50
40
30
20
10

%

A 3
0-8-6-4-20 2 4 6 8 1

zLocal [cm]

Module 5 Tray2 : z Local Fit

Z0=40 B5 + 0.0[112

0

-1

0-8-6-4-20 2 4 6 81

zLocal [cm]

(4 + 0.0[L59

0

Module 4 Tray106 : z Local Fit

70fk
60fF

!
sok ‘ Ul |
a0f
30
200 Z0=40

10

9

zLocal [cm]

Module 4 Tray110 : z Local Fit

136

zLocal [cm]

Module 4 Tray114 : z Local Fit

41

90,
80
70F
60F
50
a0f
30
20k
10F

A "

0
-10-8 6-4-20 2 4 6 8 1

zLocal [cm]

Module 4 Tray118 : z Local Fit

D9 + 0.0[11E

0

90F
80fF
70k . .\h
60 !
50
a0f
30F
20
10F

o y o
-10-8 6-4-20 2 4 6 81

zLocal [cm]

Module 5 Tray3 : z Local Fit

132

0

5 L%
913-8-6-4-20 2 4 6 8 1

zLocal [cm]

P51

0

Module 4 Tray107 : z Local Fit

Z0 = 6pt1 + 0.01.34

zLocal [cm]

Module 4 Tray111 : z Local Fit

zLocal [cm]

Module 4 Tray115 : z Local Fit

80
70|
60|
50|
40
30|

2 14 +0.0127

10

0 'y i 1
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 4 Tray119 : z Local Fit

sof
70F
60f
sof
20
3ok
ok Z0 =10.0808)0 + 0.0[131

10

! | 1
E)ZI.0-8-6-4-20 2 46 810

zLocal [cm]

Module 5 Tray4 : z Local Fit

174

if) L 1
E)10-8-6-4-20 2 46 810

zLocal [cm]

Module 4 Tray108 : z Local Fit

13 + 0.0[120

zLocal [cm]

Module 4 Tray112 : z Local Fit

3 £ 0.0L15

zLocal [cm]

Module 4 Tray116 : z Local Fit
70,

60F
50p \‘H"

a0F

20F 70 =40.1288f3 + 0.0[L50

J I
0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 5 Tray1 : z Local Fit

40
35
30
25
20p
15p
10F Z0 =

33

66!

64 20 246 810

zLocal [cm]

Module 5 Tray5 : z Local Fit

a0f
35p
30f
25f
20f
15F
10F Z0 =
5k

0 +0.0[L76

| ]
E)10-8-6-4-20246810

zLocal [cm]



Module 5 Tray6 : z Local Fit

45F
40
35
a0k AiblI
25k I

20

zLocal [cm]

Module 5 Tray10 : z Local Fit

13¢

40F

35§
30
25
20p

zLocal [cm]

Module 5 Tray14 : z Local Fit

P34

50fF
a0f
30f
20f

20 =
10F

o i I
-10-8 -6 -4 -2 0 2

zLocal [cm]

Module 5 Tray18 : z Local Fit

4 6 810

531

35p
30
25p
20f
15
10

asf
20F l

zLocal [cm]

Module 5 Tray22 : z Local Fit

N6 4 20 24 6810

84t

1=

0.8

0.6

0.4k

0.2p

-10-8 6 -4-2 0 2 4 6 8 1

zLocal [cm]

0

Module 5 Tray7 : z Local Fit

12 +0.0018¢

zLocal [cm]

Module 5 Tray11 : z Local Fit

B4 + 0.0R11

zLocal [cm]

Module 5 Tray15 : z Local Fit

35p
30
25
20

15

wf 70 =

0 i ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 5 Tray19 : z Local Fit

45p
40
35
30
25p
20
15
10

sk

38 + 0.0153(

00 s 202 4 6 810

zLocal [cm]

Module 5 Tray23 : z Local Fit
60

50

a0f

30

20

10

90 8 T 024 68 10

zLocal [cm]

Module 5 Tray8 : z Local Fit

zLocal [cm]

Module 5 Tray12 : z Local Fit
50

)
30f ! U

20

Z0 = g4 + 0.0175¢

zLocal [cm]

Module 5 Tray16 : z Local Fit

asf
a0f
35k
30F
25k
20k
15F
ok Z20=

S5k

8 +0.0191

0 = A
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 5 Tray20 : z Local Fit

1=

0.8

0.6p

0.4p

0.2

E}ZI.O-8-6-4-20 2 46 810

zLocal [cm]

Module 5 Tray24 : z Local Fit

45p
40
35
30
25
20p
15
10

5k

] L ]
E)10-8-6-4-20 2 46 810

83 £ 0.017¢€

zLocal [cm]

Module 5 Tray9 : z Local Fit

sof
20f
il
30k \ IU
20
ok Z0=0.007826 + 0.0172(

zLocal [cm]

Module 5 Tray13 : z Local Fit

zLocal [cm]

Module 5 Tray17 : z Local Fit

50
40
i\JL.‘ [
30f |
201
Z0=10 DO + 0.01190
10

0 - ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 5 Tray21 : z Local Fit
40F

35p
30
25
20p

15
10k Z0 =

5k

D.0559%7 + 0.0R00

U064 20 246 810

zLocal [cm]

Module 5 Tray25 : z Local Fit

35pm
30
25
20p
15
10 70 =
sk

P03

1] " |
E)10-8-6-4-20 2 46 810

zLocal [cm]



Module 5 Tray26 : z Local Fit
5
40
35

30
25
20f

173

zLocal [cm]

Module 5 Tray30 : z Local Fit

35
z: bl
208
15p
10fF Z0 =10.2983(L7 + 0.0[L83

5

o ] A )
-10-8 6 -4-2 0 2 4 6 8 1

zLocal [cm]

Module 5 Tray34 : z Local Fit

5
a0F
30k
20f

266 + 0.0[1.88
10

0 i 8 )
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 5 Tray38 : z Local Fit

508

408

20

1ok Z0 = {0.2286[L2 + 0.0R04

06420 24 6810

zLocal [cm]

Module 5 Tray42 : z Local Fit

50pF
40k
30k
20

172
10F

OG220 2 4 6 810

zLocal [cm]

Module 5 Tray27 : z Local Fit

458
40 i
ask H.
30 .
25
20

15
10

0 + 0.0[L8¢

0 H ]
108 -6-4-202 4 6 8 10

zLocal [cm]

Module 5 Tray31 : z Local Fit
40F

35

30p
25 '
20

86 + 0.0p12

zLocal [cm]

Module 5 Tray35 : z Local Fit

il

0.8

0.6

0.4

-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 5 Tray39 : z Local Fit

45
408

35f H }
30
25
20F
15
10
5k

e S T

Z0 = 201 + 0.0188

zLocal [cm]

Module 5 Tray43 : z Local Fit

45f
40
35F ‘I“ULL‘V
30f iy
25fF
20fF
15F
Z0 = 65 + 0.0pR1¢8
10F
5k
0 g )
10-8-6-4-202 4 6 8 10

zLocal [cm]

Module 5 Tray28 : z Local Fit

sof
T
30f "1
20F

Z0 = 17 +0.0214

10

O R T

zLocal [cm]

Module 5 Tray32 : z Local Fit

45

40k ‘

35F IH\A

3of o K|

25

20

“F z0= D7 +0.019¢
10

zLocal [cm]

Module 5 Tray36 : z Local Fit
45F

40F
35k ‘
30F i
2o} i
20F
15f
ok Z20= 12 + 0.0203

sk

0 - ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 5 Tray40 : z Local Fit

35
30
25
20
15p

10F 70 =10.289348 + 0.0R21

5k

OB a0 2 46 B 10

zLocal [cm]

Module 5 Tray44 : z Local Fit

50
40
30
20

154
10

[ )
E)10-8-6-4-20 2 46 810

zLocal [cm]

Module 5 Tray29 : z Local Fit

45k
40f
35f H
30F ‘ m
25k

20F

Z20=10 12 + 0.01L79

zLocal [cm]

Module 5 Tray33 : z Local Fit
45F
40p

3sf
30F
25f
20F

.0[L59

zLocal [cm]

Module 5 Tray37 : z Local Fit

a5k

:g: \ J] l\‘

30
25
20§
15
10

Z0=10 D6 + 0.0[L64

] J

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 5 Tray41 : z Local Fit

40
35p
30
25p
20p

15f
10 Z0 =10.4727482 + 0.0p38

e 40 2 46 810

zLocal [cm]

Module 5 Tray45 : z Local Fit

40
35p
30p
25p
20§
15p
10 70 =
sk

P48

U0 s 20 246 810

zLocal [cm]



Module 5 Tray46 : z Local Fit

0.1186p4 + 0.0[L83

R e i T

zLocal [cm]

Module 5 Tray50 : z Local Fit

zLocal [cm]

Module 5 Tray54 : z Local Fit

a5k
a0F
3sp
30F
25
20F
15f
10f

170

L) l )
-10-8 -6 -4-2 0 2 4 6 810

zLocal [cm]

Module 5 Tray58 : z Local Fit

5
408
30
20

67 + 0.0182
10k

A6 4202 a6 810

zLocal [cm]

Module 5 Tray62 : z Local Fit

45p
40f
asf il
30f i H
25k

20f
15f
10F
5k

s )
E)11)-8 6 -4-20 2 4 6 810

Z20=10 D3 £ 0.0(194

zLocal [cm]

Module 5 Tray47 : z Local Fit

45
40
35
30
25
20
15
10

PO1

zLocal [cm]

Module 5 Tray51 : z Local Fit

6 +0.0[152

h _Y) )
913-8-6-4-202 4 6 8 1

zLocal [cm]

Module 5 Tray55 : z Local Fit

35p
30
25k
20
15

o Z20= 8 + 0.0p3C

0 J g ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 5 Tray59 : z Local Fit
50,

a0k
30
20

2 £0.00.88
10f

| 4 )
Y0864 202 26810

zLocal [cm]

Module 5 Tray63 : z Local Fit

18 + 0.01192

0864202 4 6810

zLocal [cm]

Module 5 Tray48 : z Local Fit

50F
a0f ‘
30 \‘1

20

zLocal [cm]

Module 5 Tray52 : z Local Fit

b4 + 0.0R3€

50

a0k

30

zLocal [cm]

Module 5 Tray56 : z Local Fit

176

40
35p
30
25
20

15p
10k Z0 =

L L

zLocal [cm]

Module 5 Tray60 : z Local Fit

0 b ]
-10-8-6 -4-20 2 4 6 810

95:

35
30
25 | I
A [

15

10F Z0={0 y7 + 0.0

zLocal [cm]

Module 5 Tray64 : z Local Fit

U8 a 20 2 46 B 10

1€

S50
40
30
20

B7 + 0.0

10

P1€

0

zLocal [cm]

9086 4 202 46 810

Module 5 Tray49 : z Local Fit

58 + 0.0[L88

zLocal [cm]

Module 5 Tray53 : z Local Fit
50)

a0f
30f

201

.0[L99

zLocal [cm]

Module 5 Tray57 : z Local Fit

a5k
a0f
asp
30f
25
20F
15f

£ D9 + 0.0[183

|
o o) L ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 5 Tray61 : z Local Fit
40F

35k
30f
25F
20f
15f
10 Z0 =

5k

P17

06 4 20 246 810

zLocal [cm]

Module 5 Tray65 : z Local Fit

45f
40f
3sf
30f
25F
20F
1sf
1ok 20 =
5

o664 20 246 810

63 + 0.0[197

zLocal [cm]



Module 5 Tray66 : z Local Fit

zLocal [cm]

Module 5 Tray70 : z Local Fit

zLocal [cm]

Module 5 Tray74 : z Local Fit

4sf
40F
S5k \\Jl“Jl
30F ‘\'
25p
20
158
10
sk

Z0 = .007860 + 0.0185

o 5 M )
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 5 Tray78 : z Local Fit

50|
40)
30)
20)

0 PO1

06420 24 6810

zLocal [cm]

Module 5 Tray82 : z Local Fit

45
40
3sf rh‘ [l
|
30f It
25k
20p
15p
o z0= B1 + 0.0183
5k
o L e, )
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 5 Tray67 : z Local Fit

a5
a0
35k
30
25
20F
15F
10

P18

zLocal [cm]

Module 5 Tray71 : z Local Fit

P31

zLocal [cm]

Module 5 Tray75 : z Local Fit

a0f
35 ‘

o “. [

20
15

10 Z20= 6 +0.0184!

0 - i ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 5 Tray79 : z Local Fit

50
40pF
30
20

184

10

)

) i )
910—8—6—4—20 2 4 6 8 10

zLocal [cm]

Module 5 Tray83 : z Local Fit

40
ask il
30f
25p
20p
15

372 + 0.0R01

10

4 6810

|
913 -8 -6-4-20 2

zLocal [cm]

Module 5 Tray68 : z Local Fit
50

a0
It
30f Ll

20

Z0 = 47 + 0.0[18¢

zLocal [cm]

Module 5 Tray72 : z Local Fit
SO

a0k

30

20

zLocal [cm]

Module 5 Tray76 : z Local Fit

30
25f ] .hh
i
20
15
1F 70 =10 B3 + 0.0R2C
5k
0 2 { )
-:10-8-6 -4-20 2 4 6 8 10
zLocal [cm]

Module 5 Tray80 : z Local Fit

45p
40p
35

30k \H\“
b H{
20
15k
10f 20 = 469 + 0.0119¢

sk

U0 e s 20 2 46 B 10

zLocal [cm]

Module 5 Tray84 : z Local Fit

a5f
a0
35
30
25
20|
15
10|

5

U0 8 s 20 2 46 810

286 + 0.0(18<

zLocal [cm]

Module 5 Tray69 : z Local Fit

45
40
35 LR
30F 1“
25p
20

Z0 =10 D6 + 0.0[L86

zLocal [cm]

Module 5 Tray73 : z Local Fit

zLocal [cm]

Module 5 Tray77 : z Local Fit
Bl

40
30
201

o+ 5 + 0.0165¢

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 5 Tray81 : z Local Fit

35
30
25
20
15p

10F 006 + 0.0p32

5k

Ll ,
9086 4202 46 810

zLocal [cm]

Module 5 Tray85 : z Local Fit
40F

35
30F
25k
20F
15F
10f P4Q

5f

O s 20 2.4 6 810

zLocal [cm]



Module 5 Tray86 : z Local Fit

3
25
20

15p

P51

zLocal [cm]

Module 5 Tray90 : z Local Fit

zLocal [cm]

Module 5 Tray94 : z Local Fit

50
a0f
30f
20f

17 +0.0170
10F

0 > A
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 5 Tray98 : z Local Fit

45p
40
35p
30
25p
20k
15
10

5

Z0 =10.344006 + 0.0(L66

06420 24 6810

zLocal [cm]

Module 5 Tray102 : z Local Fit

1=

0.8

0.6

0.4k

0.2p

E;10-8-6-4-20 2 4 6 810

zLocal [cm]

Module 5 Tray87 : z Local Fit
50

40f
30f {RITK

20

Z0= 33 + 0.007¢

zLocal [cm]

Module 5 Tray91 : z Local Fit

zLocal [cm]

Module 5 Tray95 : z Local Fit
45
40F

35
30
25p
20
15
10

5k

0 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 5 Tray99 : z Local Fit
50|

40
30
20

i, 175

908 T 0% 4 6 8 10

zLocal [cm]

Module 5 Tray103 : z Local Fit

F
0.8
0.6f
0.4f

0.2

-10-8 6-4-20 2 4 6 810

zLocal [cm]

Module 5 Tray88 : z Local Fit

45
40
35
30|
25
20|

160

M08 6 4202 46 810

zLocal [cm]

Module 5 Tray92 : z Local Fit
SO

a0k
30f

20

14€

zLocal [cm]

Module 5 Tray96 : z Local Fit

35p
30
25
20

15

0F 70= 0Ll + 0.0239

0 i e )
0864202 46 810

zLocal [cm]

Module 5 Tray100 : z Local Fit
40F

35k
30
25p
20

15
10 Z0= 6b1 + 0.0.81

I 1]

U0 8 s 20 24 6 810

zLocal [cm]

Module 5 Tray104 : z Local Fit

Z0 = 10.2089B4 + 0.0[18¢€

0 E oL )
0864202 46 810

zLocal [cm]

Module 5 Tray89 : z Local Fit
0

a0k

30

20

Z0 = 10.2464B2 + 0.0180

10

O R e T

zLocal [cm]

Module 5 Tray93 : z Local Fit

30 | ‘ I

Z0=10 /2 + 0.0[L80

zLocal [cm]

Module 5 Tray97 : z Local Fit

a5k
a0F
asf
30F
25k
20f
15k

J 6RO + 0.01.98

0 s 4
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 5 Tray101 : z Local Fit
40F

35p
30
25
20p
15p

10F 70 = P19

| Lan |
E:'10-8-6-4-20 2 46 810

zLocal [cm]

Module 5 Tray105 : z Local Fit

a0f
35k
30k
25p
208
15p
1ok Z0=

S5k

7 +0.0p08

U064 20 246 810

zLocal [cm]



Module 5 Tray106 : z Local Fit

zLocal [cm]

Module 5 Tray110 : z Local Fit

P15

zLocal [cm]

Module 5 Tray114 : z Local Fit

50
408
30
201

o+ 8 £0.0

P29

L

zLocal [cm]

Module 5 Tray118 : z Local Fit

0 ]
-10-8 6 -4-2 0 2 4 6 810

4sf
4of
sk i
= I i J‘ ‘
25f

20k
15f
10f

16 £ 0.0

182

zLocal [cm]

N6 420 24 6810

Module 5 Tray107 : z Local Fit

45
40
35
30
25
20
15
10

08 6420727416810

zLocal [cm]

Module 5 Tray111 : z Local Fit

45

zLocal [cm]

Module 5 Tray115 : z Local Fit

40
35
30,
25
20
15
10

0
-1

08 64202406810

zLocal [cm]

Module 5 Tray119 : z Local Fit

zLocal [cm]

Z0 = 10.1484B2 + 0.0[18C

. Z0 =10.1960p0 + 0.0p41

198

Module 5 Tray108 : z Local Fit

50

a0

30

20

10

96™8"%

p2€

42024681

zLocal [cm]

Module 5 Tray112 : z Local Fit

zLocal [cm]

Module 5 Tray116 : z Local Fit

35p
30

25

15p

w0f 70

0
-10 -8 -6

420

P58

2 4 6 8 10

zLocal [cm]

Module 5 Tray120 : z Local Fit

40
3sf
3ok
25f
20F
15f
10 Z0

E)ZI.O -8 -6

420246 810

A

zLocal [cm]

40|

a0k
asp
30F
25f
20f

Module 5 Tray109 : z Local Fit

50

a0fF

ok FHH‘M i

20

o} 20=10.2136p4 = 0.01.99

zLocal [cm]

Module 5 Tray113: z Local Fit

50

30

zLocal [cm]

Module 5 Tray117 : z Local Fit

15
10

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

[L66

Z0 =0.0707f0 + 0.0pR09



Module 5 Tray106 : z Local Fit

1 + 0.0215

zLocal [cm]

Module 5 Tray110 : z Local Fit

zLocal [cm]

Module 5 Tray114 : z Local Fit

50
408
30
201

o+ 8 + 0.0p29

L

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 5 Tray118 : z Local Fit

asf
20f
35k

30- ‘\‘ ‘ J‘i
25F

20f
15f

b Z0=1{0.1443{16 + 0.01182

N0 6420 24 6810

zLocal [cm]

Module 6 Tray3 : z Local Fit

200p
180f
160p

P 20 =(.001114 + 0.0978(

06 s 20 24 6 810

zLocal [cm]

Module 5 Tray107 : z Local Fit

45p
40
35
30
25p
20p
15
10

Z0 = 10.1484B2 + 0.0[18C

O e R T

zLocal [cm]

Module 5 Tray111 : z Local Fit

zLocal [cm]

Module 5 Tray115 : z Local Fit
45
40p
35p
< |
25k ‘ | ’
20

15f
10f 20 =10.1960p0 + 0.0p41

0 U . ]
-10-8 6-4 -2 02 4 6 810

zLocal [cm]

Module 5 Tray119 : z Local Fit

‘\‘ Fv \
%‘

e T

50

40k

20

198

10

zLocal [cm]

Module 6 Tray4 : z Local Fit

zLocal [cm]

Module 5 Tray108 : z Local Fit

50

a0

30k | h
20F

Z0 = 476 + 0.022€

10

O R ST

zLocal [cm]

Module 5 Tray112 : z Local Fit

zLocal [cm]

Module 5 Tray116 : z Local Fit

o} \

25k ‘

15p

10F z0=10 2P1 + 0.0P58

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 6 Tray1l : z Local Fit
20!
180F
160p
140
120p
100p
80p
sof Z0=10.079870 + 0.0081:
40f
20p

U0 8 s 20 246 B 10

zLocal [cm]

Module 6 Tray5 : z Local Fit
180F
160
140

16 + 0.0091

i o ]
E)10-8-6-4-20 2 46 810

zLocal [cm]

Module 5 Tray109 : z Local Fit

50

40k

ok ”\\H‘M |

20

o Z0=10.2136p4 + 0.0199

zLocal [cm]

Module 5 Tray113 : z Local Fit

50

40|

30

[L66

zLocal [cm]

Module 5 Tray117 : z Local Fit

asf
a0k
asp
30F
25f
20f
15k

10k 20 =10.0707f0 + 0.0pR09

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 6 Tray2 : z Local Fit

240F
2208
200F il
180F L i
160F
140F
120F
100f
80F —
ook Z0 =
40f
20F

1 +0.00[7/74

Fy

064 20 246 810

zLocal [cm]

Module 6 Tray6 : z Local Fit

200k
180F
160F
140f

100p
80
60 Z0 =
a0f
20f

U064 20 2.4 6 810

D83

zLocal [cm]



Module 6 Tray7 : z Local Fit

76:

zLocal [cm]

Module 6 Tray11 : z Local Fit

200
180
160
1408
1208
100
80
60k Z0 =

081

zLocal [cm]

Module 6 Tray15 : z Local Fit

180
160
140
120
100
80
5%F 70 = {0.0106P1 + 0.0089
40
20

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 6 Tray19 : z Local Fit

220
200
180F
160p
140
120
100p

F Z0=10.034816 + 0.0975¢

40F

20p

N6 420 24 6810

zLocal [cm]

Module 6 Tray23 : z Local Fit

090

1086 4202460810

zLocal [cm]

Module 6 Tray8 : z Local Fit

160f
140f Al
120f ey
100f
sof
60k

Z0 = 90 + 0.0Q93°

40k

zLocal [cm]

Module 6 Tray12 : z Local Fit

24
220f
200f iy 1)
180f ‘
160F
140F
120F
100F
80 _
ot § Z0=
20k
20f

0 LY J )
08 64202 46810

P + 0.0Q978!

zLocal [cm]

<

odule 6 Tray16 : z Local Fit

200
180f n
160
140
1208
100
80
sop Z0 =
s0f
20k

D3 + 0.0P8E

0 b L ]
0864202 4 6 8 10

zLocal [cm]

Module 6 Tray20 : z Local Fit

1t
0.8
0.6
0.4

0.2

-10-8 6-4-20 2 4 6 810

zLocal [cm]

Module 6 Tray24 : z Local Fit

74 +0.0p832

Ho8 64202 46810

zLocal [cm]

Module 6 Tray9 : z Local Fit
220F
200F
180F
160F
140
120F
100p

80F
60F
40
20|

2 +0.0081:

M08 6 -4 202 461810

zLocal [cm]

Module 6 Tray13 : z Local Fit

24
220
200f
180F
160F
140F
120F
100f

80

o 0.0611P3 + 0.0

07€

zLocal [cm]

Module 6 Tray17 : z Local Fit

220
200
180
160
140
120
100
Zg .0535113 + 0.0079¢
40
20

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 6 Tray21 : z Local Fit

200F
180
160F
140F
120
100f
sof
sof Z0 =10.1007f0 + 0.008C
20
20F

U0 8 s 20 2 46 810

zLocal [cm]

Module 6 Tray25 : z Local Fit

80F 70 = 01 + 0.0088

0 b i )
-10-8 -6 4-20 2 4 6 810

zLocal [cm]

Module 6 Tray10 : z Local Fit

15 + 0.0p93

zLocal [cm]

Module 6 Trayl14 : z Local Fit

80¢

zLocal [cm]

Module 6 Tray18 : z Local Fit

220F
200 ol
180F
160F
140k
120k
100k
sof _ .
Z0 =( + 0.0084:
60F
20f
20

o A il )
-10-8 6 -4 20 2 46 8 10

zLocal [cm]

Module 6 Tray22 : z Local Fit

2
1.8
1.6
1.
1.2

0.8
0.6}
0.

0.2

910-8-6-4-20246810

zLocal [cm]

Module 6 Tray26 : z Local Fit

086 4202461810

zLocal [cm]



Module 6 Tray27 : z Local Fit

220f
200f
180k
160f
140F
1208
100f
s0f _
ook Z0 =
20F
20f

O e T

37713 = 0.0p77

zLocal [cm]

Module 6 Tray31 : z Local Fit

201
180f
160k
140k
120f
100k
8of
sof Z0 =40.1485f3 + 0.0p82
a0f
20f

R R R R T

zLocal [cm]

Module 6 Tray35 : z Local Fit

I

0.8

0.6

0.4

0.2

6] U T T S TR T T T 1
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 6 Tray39 : z Local Fit
220F
200F
180f
160f
140f
120f
100f

80
60f
40F
20F

Z0 =10.3242/6 + 0.0p79

N6 420 24 6810

zLocal [cm]

Module 6 Tray43 : z Local Fit

8F 70 =10.2227b7 + 0.0p81

N6 420 24 6810

zLocal [cm]

Module 6 Tray28 : z Local Fit

24
220
200
180
160
140
120
100
gg " Z0 = {0.2065p0 + 0.0p82
40
20f

e S T

zLocal [cm]

Module 6 Tray32 : z Local Fit

80F 70 = §0.2544b2 + 0.0082

zLocal [cm]

Module 6 Tray36 : z Local Fit

200
180
160
140
120
100
80
60k Z0 =
40f
20F

.0556@p5 + 0.00p82

0 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 6 Tray40 : z Local Fit
180F
160

1408
120
100
80
F z0=
40F
20

0 +0.0{101

0 . : )
0-8-6-4-202 4 6 8 10

zLocal [cm]

Module 6 Tray44 : z Local Fit

0.1734P8 + 0.0p77

9086 2 T 024 6 8 10

zLocal [cm]

Module 6 Tray29 : z Local Fit

25

200

150

100

zLocal [cm]

Module 6 Tray33 : z Local Fit

07<

240F
220
200f ALl
180F
160f
140
120
100f

zLocal [cm]

Module 6 Tray37 : z Local Fit

07¢

g } 93 + 0.0}

zLocal [cm]

Module 6 Tray41 : z Local Fit

086 4202406810

07¢

200p
180p
160
140
120
100f
80
60 Z0 =
40p
20f

0.300677 + 0.0

081

zLocal [cm]

Module 6 Tray45 : z Local Fit

U0 8 a0 2 46 B 10

160
140
120
100
80
s0F 70 =10.138657 * 0.0
a0k
20

092

0

zLocal [cm]

A8 64202461810

Module 6 Tray30 : z Local Fit

180f
160f i
140f LU
120f
100f
80F

60F 70 = 17 +0.0

zLocal [cm]

Module 6 Tray34 : z Local Fit

D86

220F

200p
180p
160p

140f
120f
100f
80F
60F
40f
20F

Z0 =10.3097p7 + 0.0

-01)-8-6-4-2024681

zLocal [cm]

Module 6 Tray38 : z Local Fit

D83

220
200
180p
160p
140
120p
100p
oF z0={0.2835p5 + 0.0
40p
20

zLocal [cm]

Module 6 Tray42 : z Local Fit

0 ]
-10-8 6 -4 20 2 4 6 8 10

D77

2
200
180p
160
1408
120
100p

80p

60p

40

20p

Z0 = {0.285245 + 0.0

D73

zLocal [cm]

Module 6 Tray46 : z Local Fit

06 420 246 810

200
180p
160p
140
120
100g
80p
60k 20 =
a0F
20

D83

0

zLocal [cm]

[ b )
-10-8 6 4 -20 2 4 6 8 10



Module 6 Tray47 : z Local Fit

220
200
180p
160p
1408
120
100p

8F 70 =q.019807 + 0.04

60f

zLocal [cm]

Module 6 Tray51 : z Local Fit

80~

22
200f
180 1
160k i
140k
120k
100f
sof

sof Z0 =10.0586%4 + 0.0

a0f
20f
o :

108 6 420 24 6 810

zLocal [cm]

Module 6 Tray55 : z Local Fit

081

Module 6 Tray48 : z Local Fit

220p
200
180F
160f
140
120
100f
°F Z0=.022346 +0.0p82
40
20

O T

zLocal [cm]

Module 6 Tray52 : z Local Fit

220k
200f o H 1
180F i
160F
140F
120f
100f

8F z0o={0 D5 + 0.0078

60

Module 6 Tray49 : z Local Fit

220f
200F
180F
160
140F
120F
100F
sof
ook 20
a0F
20F

-10 -8 -6

Y

L6 + 0.007¢€

6 8 10

zLocal [cm]

Module 6 Tray53 : z Local Fit

24
220
200f
180F
160f
140
120

100f

8F 70

60

B4 + 0.007¢€

Module 6 Tray50 : z Local Fit

180
160
140
120
100
80
60 70 =
40p
20k

O R e T

127585 + 0.0p91

zLocal [cm]

Module 6 Tray54 : z Local Fit
240F
220F
200F |
180f |
160f

80F 70=D D4 + 0.0p77

zLocal [cm]

Module 6 Tray56 : z Local Fit

zLocal [cm]

Module 6 Tray57 : z Local Fit

zLocal [cm]

Module 6 Tray58 : z Local Fit

18
160
140
120
100
80|
60)
40)
20)

o " 1
-10-8 -6 -4 -2 0 2 4

b3 + 0.0088

5 8 10

zLocal [cm]

Module 6 Tray59 : z Local Fit

220
200
180
160
140
120
100
80
60
40
20

N0 4 20 24 6810

0.035582 + 0.0p79

zLocal [cm]

Module 6 Tray63 : z Local Fit

0

1086 4202461810

0.015827 + 0.0p87

zLocal [cm]

200F
180F
160F | n
140F
120F
100F
Y 3
sof Z0 =
a0F
20

+ 0.0087¢

- o

0 ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 6 Tray60 : z Local Fit
180
160|
140
120
100

80
60
40
20

90t

0086 024 6 8 10

zLocal [cm]

Module 6 Tray64 : z Local Fit

092

908 s T 024 6 8 10

zLocal [cm]

240,
220
200
180
160
140
120
100
80
60
40|
20

0
-10 -8 -6

420 2 4

+ 0.0080¢

6 8 10

zLocal [cm]

Module 6 Tray61 : z Local Fit

180F
160
140
120
100
80
sF Z0
40
20

E)ZI.O -8 -6

420 2 4

16 + 0.009€

6 8 10

zLocal [cm]

Module 6 Tray65 : z Local Fit

E)10 -8 -6

420 2 4

0.1199P2 + 0.008C

6 8 10

zLocal [cm]

24
220
200
180p
160p
1408
120p
100p
80F -
ok 20=
40
20

.038556 + 0.0Q78¢

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 6 Tray62 : z Local Fit

220F
200
180p
160p
140
120
100p
80f
60f
40
20f

.084518 + 0.0p79

064 20 246 810

zLocal [cm]

Module 6 Tray66 : z Local Fit

160
140
120
100

80

°F zo=
40

D93

208

U064 20 2.4 6 810

zLocal [cm]



Module 6 Tray67 : z Local Fit

220F
200F ek
180F Al
160F
140f
120f
100f

80p _
ook Z20=10

zLocal [cm]

Module 6 Tray71 : z Local Fit

p77

180p
160

140p
120f
100f

80

SF z0 =

zLocal [cm]

Module 6 Tray75 : z Local Fit

095

22
200
180 Al
160 B
1408
120
100§
80
60k Z0 =
a0F
20F

zLocal [cm]

Module 6 Tray79 : z Local Fit

+ 0.00

0 ]
08642024 6 810

865

220f
200f
180k
160f
140k
1208
100k
sof
60F
40k
20f

906 420 24681

zLocal [cm]

Module 6 Tray83 : z Local Fit

0

080

Z0 = 10.290400 * 0.0

E)12)-8-6-4-20 2 4 6 81

zLocal [cm]

083

0

Module 6 Tray68 : z Local Fit

zLocal [cm]

Module 6 Tray72 : z Local Fit

220
200
180F
160F
140
120
100f
oF 20=10.06897 +0.0p77
40F
20f

¥ )
913-8-6-4-20 2 46 81

zLocal [cm]

Module 6 Tray76 : z Local Fit

18
160f
140f e
120f
100f
sof

*F zo0=
40p

88 + 0.0094

20

i

0 : ]
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 6 Tray80 : z Local Fit

200
180
160
140
120
100
80
60k Z0 =
40p
20f

081

<)

e T

zLocal [cm]

Module 6 Tray84 : z Local Fit

Z0 = O[LO + 0.0p7¢€

Ho8 6420246810

zLocal [cm]

Module 6 Tray69 : z Local Fit

220
200k il L
180f W
160
140f
120f
100
sof _
ook Z0=
a0k
20k

401 + 0.0079

e 40 2 46 810

zLocal [cm]

Module 6 Tray73 : z Local Fit

220
200f
180f
160f
140
120
100f

80

60

2 +0.0081

zLocal [cm]

Module 6 Tray77 : z Local Fit

220
200
180
160
140
120
100
80
60
40|
20

0.003449 + 0.007<

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 6 Tray81 : z Local Fit
180F
160

140
120
100
80
F z0=
40
20p

M1

U0 e 40 2 46 B 10

zLocal [cm]

Module 6 Tray85 : z Local Fit

180F
160F
140p
120f
100f
sof
60f Z0 =10.233504 + 0.008€
40F
20f

U084 20 246 810

zLocal [cm]

Module 6 Tray70 : z Local Fit
200
180
160f
140f
120
100f

80k
60 Z0 =

7 +0.0p81

zLocal [cm]

Module 6 Tray74 : z Local Fit

220F
200F
180k
160F
140F
120f
100f
80F
60F
40F
20F

O R e

Z0 =.011292 + 0.0p78

zLocal [cm]

Module 6 Tray78 : z Local Fit

22
200
180p
160p
1408
1208
100p
80p
60p
40
20§

Z0 =40.11529p7 + 0.0p87

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 6 Tray82 : z Local Fit

220F
200k
180F
160k
140k
120f
100k
sof
60F
)
20f

Z0 = {0.276448 + 0.0p83

e 4 20 2 46 810

zLocal [cm]

Module 6 Tray86 : z Local Fit
140fF

120
100
80

60
sf 20 =

208

0.123782 + 0.0[L04

O s 20 246 810

zLocal [cm]



Module 6 Tray87 : z Local Fit

220
200
180p
160p
140p
120
100p

80F

60f

Z0 =10.1958p3 + 0.0p80

zLocal [cm]

Module 6 Tray91 : z Local Fit

5F 70 = 10.0998f5 + 0.0p91

zLocal [cm]

Module 6 Tray95 : z Local Fit

180
160§
140
120§
100
80
sof 70 =10.382
408
20F

4 + 0.0p82

0 ]
-10-8 6 -4-2 0 2 4 6 810

zLocal [cm]

Module 6 Tray99 : z Local Fit

220k
200k Al
180F Il
160k
140F
120f
100f
8of
60f
40f
20F

Z0 = 09 + 0.0p87

o Iy 1
-10-8 6 4-2 0 2 4 6 810

zLocal [cm]

Module 6 Tray103 : z Local Fit

1=

0.6

0.4k

0.2p

E;10-8-6-4-20 2 4 6 810

zLocal [cm]

Module 6 Tray88 : z Local Fit

220
200
180
160
140
120
100

80

60

40

zLocal [cm]

Module 6 Tray92 : z Local Fit

p8e

22
200
180
160p
140
120
100f
80p
60
40
20

Z0 =10.2180p1 + 0.0

913-8-6-4-202 4 6 81

zLocal [cm]

Module 6 Tray96 : z Local Fit

D76

0

160F
140
120
100
80
*F 20 =10.298062 + 0.0
40F
20F

-l

0 d
-10-8 6-4-20 2 4 6 8 1

zLocal [cm]

Module 6 Tray100 : z Local Fit

08¢

0

200
180
160
140
120
100
80
60k Z0 =
40
20

0 o
-10-8 6-4-20 2 4 6 81

zLocal [cm]

Module 6 Tray104 : z Local Fit

14 + 0.0091

zLocal [cm]

i )
-10-8 6-4-202 4 6 810

Z0 = 54 + 0.0081

Module 6 Tray89 : z Local Fit

240F
220p
200F k1.1l
180F ‘

160F
140f

451 + 0.0075

»

46 8 10

0
-10-8 6 -4 -2 0 2

zLocal [cm]

Module 6 Tray93 : z Local Fit

160
140 Al

120 [l
100p
80
60

Z0 = 80 + 0.0087

zLocal [cm]

Module 6 Tray97 : z Local Fit

220
200
180
160
140
120
100
80
60
40|
20

5 +0.0084

‘4 ]

4 6 8 10

0 .
-10-8-6 -4 20 2

zLocal [cm]

Module 6 Tray101 : z Local Fit

20
180
160
140f ! i
120
100
80

6F z0 = 490 + 0.0092

40f

20

U0 e a0 2 46 B 10

zLocal [cm]

Module 6 Tray105 : z Local Fit

60 20 = B3 + 0.007¢

0 " [ |
-10-8-6 4-20 2 4 6 810

zLocal [cm]

Module 6 Tray90 : z Local Fit

180p
160p
140
120F
100F
80F
%F z0=
40p
20

O e T

D6 + 0.0p88

zLocal [cm]

Module 6 Tray94 : z Local Fit

24
220F
200F
180F
160f
140F
120f
100f
80F _
ook Z0 =
40f
20F

O R R

12 +0.0p77

zLocal [cm]

Module 6 Tray98 : z Local Fit

220
200
180p
160p
140
120p
100p
80F
60f
40
20f

Z0 =10.419583 + 0.0p83

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]

Module 6 Tray102 : z Local Fit

1=

0.6

0.4

0.2

910-8-6-4-20246810

zLocal [cm]

Module 6 Tray106 : z Local Fit

086 42024061810

zLocal [cm]



Module 6 Tray107 : z Local Fit

Z0 =10.207989 * 0.0

078

zLocal [cm]

Module 6 Tray111 : z Local Fit

092

zLocal [cm]

Module 6 Tray115 : z Local Fit

200F
180f
160f
140f
120k
100f
8of
sof Z0 =40.1536p8 + 0.0
40p
20f

087

zLocal [cm]

Module 6 Tray119 : z Local Fit

0 ]
-10-8 6 -4-2 0 2 4 6 810

081

zLocal [cm]

Module 6 Tray108 : z Local Fit

Z0= 369 + 0.0p9¢

zLocal [cm]

Module 6 Tray112 : z Local Fit

077

zLocal [cm]

Module 6 Tray116 : z Local Fit
18

160F k
140p y
120k

100
80

*F z0=
40k

b6 + 0.009C

20

0 i oW )
-10-8 6-4-20 2 4 6 8 10

zLocal [cm]

Module 6 Tray120 : z Local Fit

0086 A T 024 6 8 10

zLocal [cm]

Module 6 Tray109 : z Local Fit

220
200f
180
160f
140
120
100f

80

*F 20 =0.2071560 + 0.0072

40
20 \
0 ]

-10-8-6 -4-20 2 46 810

zLocal [cm]

Module 6 Tray113 : z Local Fit

zLocal [cm]

Module 6 Tray117 : z Local Fit

220
200
180
160
140
120
100
80
60
40|
20

0.1435pP3 + 0.007¢€

0 ]
-10-8-6 -4-20 2 4 6 810

zLocal [cm]

Module 6 Tray110 : z Local Fit

S + 0.0p92

zLocal [cm]

Module 6 Tray114 : z Local Fit

zLocal [cm]

Module 6 Tray118 : z Local Fit

200p
180p
160
1408
120p
100p
80p
60p
40
20f

Z0 =40.1746p5 + 0.0p88

0 ]
-10-8 6 -4 20 2 4 6 8 10

zLocal [cm]



zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 1
1.
] -
0.5
fp————0-00-0-C0ww |
-0.5p
Bl
-1.5p
2k
2 M M M M M
“10 0 10 20 30 40 50
Module Angle [deg]
Tray 5
1.5
=
0.5
0 eooo—
-0.5p
-1
-1.5p
_2 -
2.5 M M M M M
10 0 10 20 30 40 50
Module Angle [deg]
Tray 9
15
=
0.5p
0|
-0.5p
_1 -
-1.5p
.2 -
2.5 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]
Tray 13
15
+
0.5p
0 o=
-0.5k
o
-1.5p
-2F
2.5 M M M M M
710 0 10 20 30 40 50
Module Angle [deg]
Tray 17
1.5
1+
0.5
0 0O on
-0.5
-1.5
-2
-2. )
-10 O 10 20 30 40 50

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 2 Tray 3
1.I: 5 lAE'
n
b=
o
®
0.5 S 0.5
~
0 T 0 S-Ea
-0.5 -0.5
-1.5 -15
-2| -2
2505040 50 256 020 30 40 50
Module Angle [deg] Module Angle [deg]
Tray 6 Tray 7
15 = 1.5g
n
=
9]
T
0.5] g 0.5
~ a
0 00O 0 =
-0.5 -0.5
-1.5 -1.5
-2 -2
B TV TV R VR T ) 250 10 20 30 40 50
Module Angle [deg] Module Angle [deg]
Tray 10 Tray 11
15 5 15
(2]
5 i
®
0.5] S 0.5F
)
N
0 oo 0 a
-0.5 -0.5p
-1.5 -1.5
-2| -2
25 ) 25 PR T T
-10 0 10 20 30 40 50 -10 10 20 30 40 50
Module Angle [deg] Module Angle [deg]
Tray 14 Tray 15
1.5 3 1.5
£
o 1=
®
0.5 S 0.5F
~
0 Lot 0 Ato-e-p
-0.5] 0.5k
-1.5 -1.5
-2| -2
-2. 4 -2. A
<10 0 10 20 30 40 50 <10 10 20 30 40 50
Module Angle [deg] Module Angle [deg]
Tray 18 Tray 19
15 5 15
n
=
o 1
©
0.5 S 05f
-
C ** N C PP —
-0.5 -0.5p
-15 -1.5
-2] -2
-2. 4 -2. a
-10 O 10 20 30 40 50 -10 10 20 30 40 50

Module Angle [deg]

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 4

1.5

2 M M M M PP |
0 0 10 20 30 40 50
Module Angle [deg]

Tray 8

~10 0 10 20 30 40 50
Module Angle [deg]

Tray 12

25 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]

Tray 16

25 P Mecsslasasl
20 0 10 20 30 40 50
Module Angle [deg]

Tray 20
15

20 0 10 20 30 40 50
Module Angle [deg]



zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

-0.

-1.

-2

Tray 21
i3
S
0 So—
5k
Bl
S5k
2k
<10 0 10 20 30 40 50
Module Angle [deg]
Tray 25
1+
S
O e W™y
o
S5k
-1
53
-2F
10 0 10 20 30 40 50
Module Angle [deg]
Tray 29
0| = Do
5|
5|
-2
10 O 10 20 30 40 50
Module Angle [deg]
Tray 33
+
sk

-0.5k
o
-1.5p
-2F
25 M M M M M
710 0 10 20 30 40 50
Module Angle [deg]
Tray 37
1.5
1+
0.5
C o
-0.5
-1.5
-2
-2. )
-10 O 10 20 30 40 50

Module Angle [deg]

zLocal Offset zLocal Offset zLocal Offset zLocal Offset

' =
I\)Lﬂﬁ‘ [=) ﬁn

zLocal Offset

Tray 22

=
n

0.5

(=)

R

2505040 50
Module Angle [deg]

Tray 26

L
0

0.5

(=]

-0.5

Sk

B T R TR R R T
Module Angle [deg]

Tray 30

}0

Noe
o mﬁ'

-10 0 10 20 30 40 5
Module Angle [deg]

=]

Tray 34

0.5

-0.5

-1.

-2.

<10 0 10 20 30 40 5
Module Angle [deg]

o

Tray 38

0.5]

[=]

-1.5

:

B T R R O R R T

Module Angle [deg]

o

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 23

10 20 30 40 50
Module Angle [deg]

Tray 27

10 0 10 20 30 40 50
Module Angle [deg]

Tray 31

25 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]

Tray 35

20 0 10 20 30 40 50
Module Angle [deg]

Tray 39

-1.5

2000 4050

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 24

M M M PP |
10 0 10 20 30 40 50
Module Angle [deg]

Tray 28

0.5

-0.5

-1.5

B R R T T R VR TR
Module Angle [deg]

Tray 32

M M M M
10 0 10 20 30 40 50
Module Angle [deg]

Tray 36

-0.5

20 0 10 20 30 40 50
Module Angle [deg]

Tray 40
1.5¢

0 0 10 20 30 40 50
Module Angle [deg]



zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 41
1.
i3
0.5p
e,
-0.5p [e]
Bl
-1.5p
2k
2 M M M M M
“10 0 10 20 30 40 50
Module Angle [deg]
Tray 45
1.5
1+
0.5
0| =
O
-0.5p
-1
-1.5p
-2F
2.5 M M M M M
10 0 10 20 30 40 50
Module Angle [deg]
Tray 49
15
=
0.5p
o R T w—
-0.5p
-1
-1.5p
-2F
2.5 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]
Tray 53
15
+
0.5p
0
\°ad O,
-0.5k
o
-1.5p
-2F
25 M M M M M
710 0 10 20 30 40 50
Module Angle [deg]
Tray 57
1.5
1+
0.5
0 = co-8-cf
-0.5
-1.5
-2
-2. )
-10 O 10 20 30 40 50

Module Angle [deg]

zLocal Offset zLocal Offset zLocal Offset
-
& 7 o

zLocal Offset

zLocal Offset

Tray 42

[iN
n

o t
omﬁ

0 0 10 20 30 40 50
Module Angle [deg]

Tray 46

0.5
0
-0.5
-1.5

-2

I R R O R R T )
Module Angle [deg]

Tray 50

=
3

0.5

|

-0.5

-1.5

25 ]
-10 0 10 20 30 40 50

Module Angle [deg]

Tray 54

0.5

(=)

-0.5

-1.

4l

-2.

A0 0 10 20 30 40 50
Module Angle [deg]

Tray 58

0.5]

[=]

T

-0.5

-1.5

B R O R R T

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 43

0 10 20 30 40 50
Module Angle [deg]

Tray 47

10 0 10 20 30 40 50
Module Angle [deg]

Tray 51

25 i i i i i

T10 0 10 20 30 40 50
Module Angle [deg]

Tray 55

20 0 10 20 30 40 50
Module Angle [deg]

Tray 59

-0.5

-1.5

2000 4050

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 44

1.5

2 M M M M P |
0 0 10 20 30 40 50
Module Angle [deg]

Tray 48

~10 0 10 20 30 40 50
Module Angle [deg]

Tray 52

25 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]

Tray 56

25 P Mecsslasasl
20 0 10 20 30 40 50
Module Angle [deg]

Tray 60
15

20 0 10 20 30 40 50
Module Angle [deg]



zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 61

-1.5]

255

10 20 30 40 50
Module Angle [deg]

Tray 65

10 20 30 40 50
Module Angle [deg]

Tray 69

-2.5

10

0

10 20 30 40 50
Module Angle [deg]

Tray 73

10

0

M
10 20 30 40 50
Module Angle [deg]

Tray 77

0

0 20 30 40 50
Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 62 Tray 63
1.5 3 1.5
£
o 1=
®
0.5 S 0.5p
~
0 0 Q-go-grep—
-0.5 -0.5p
-1.5 -15
-2| -2
2505040 50 256 020 30 40 50
Module Angle [deg] Module Angle [deg]
Tray 66 Tray 67
1.5 5 1.5
£
o ¥
T
0.5 § 0.5
0 Q N o
Eo— <=
-0.5 -0.5p
-1.5 -1.5
-2 -2
B TV TV R VR T ) 250 10 20 30 40 50
Module Angle [deg] Module Angle [deg]
Tray 70 Tray 71
15 5 15
(2]
5 i
0.5] g 0.5
. g o.
~
0 STeT— 0 CT—
-0.5 -0.5p
-1.5 -1.5
-2| -2
25 ) 25 M M M M
-10 0 10 20 30 40 50 -10 10 20 30 40 50
Module Angle [deg] Module Angle [deg]
Tray 74 Tray 75
1.5 3 1.5
£
o 1=
0.5 g 0.5p
. g o
0 2 N -
\*J
-0.5 -0.5p
-1.5 -1.5
-2| -2
-2. J 2. ]
<10 0 10 20 30 40 50 <10 10 20 30 40 50
Module Angle [deg] Module Angle [deg]
Tray 78 Tray 79
15 = 15g
£
[9)
05 S o5
3
N
0 0 e o—
-0.5 -0.5
-15 -1.5
-2] -2
-2. 4 -2. a
-10 O 10 20 30 40 50 -10 10 20 30 40 50

Module Angle [deg]

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 64

1.5

2 M M M M PP |
0 0 10 20 30 40 50
Module Angle [deg]

Tray 68

~10 0 10 20 30 40 50
Module Angle [deg]

Tray 72

25 i i i i i

10 0 10 20 30 40 50
Module Angle [deg]

Tray 76

N
B R R T BT BT Yo R
Module Angle [deg]

Tray 80
15

20 0 10 20 30 40 50
Module Angle [deg]



zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 81

0 10 20 30 40 50

Module Angle [deg]

Tray 85

0.5

-0.5

-1.5

_2._ -

0 10 20 20 40 50

Module Angle [deg]

Tray 89

-2.5

10

0O 10 20 30 40 50

Module Angle [deg]

Tray 93

M
0O 10 20 30 40 50

Module Angle [deg]

Tray 97

0 10 20 30 40 50

Module Angle [deg]

zLocal Offset zLocal Offset zLocal Offset
\ [
N o1 o o1
| q

zLocal Offset

zLocal Offset

Tray 82
0.5F
0
Qo
o
-0.5pF

0 0 10 20 30 40 50
Module Angle [deg]

Tray 86

0.5

-0.5

-1.

-2.

<10 O 10 20 30 40 5
Module Angle [deg]

o

Tray 90
I
0.5F
0
v o~
-0.5

-1.5

:

-2.5
-10 0 10 20 30 40 50

Module Angle [deg]

Tray 94
0.5p
0 = O On
S
-0.5F

N e
NU’\#

10 0 10 20 30 40 50
Module Angle [deg]

Tray 98

=
n

0.5]

0.5 W

[=]

-1.5

N

B R O R R T

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 83

10 20 30 40 50
Module Angle [deg]

Tray 87

10 20 30 40 50
Module Angle [deg]

Tray 91

10 20 30 40 50
Module Angle [deg]

Tray 95

10 20 30 40 50
Module Angle [deg]

Tray 99

-1.5

25k

10 20 30 40 50
Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 84

1.5

2 M M M M P |
0 0 10 20 30 40 50
Module Angle [deg]

Tray 88

~10 0 10 20 30 40 50
Module Angle [deg]

Tray 92

25 i i i i i

10 0 10 20 30 40 50
Module Angle [deg]

Tray 96

N
B R R T BT BT Yo R
Module Angle [deg]

Tray 100
15

20 0 10 20 30 40 50
Module Angle [deg]



Tray 101

zLocal Offset

10 20 30 40 50
Module Angle [deg]

Tray 105

zLocal Offset

10 20 30 40 50
Module Angle [deg]

Tray 109

zLocal Offset

10 20 30 40 50
Module Angle [deg]

Tray 113

zLocal Offset

M
10 20 30 40 50
Module Angle [deg]

Tray 117

zLocal Offset

0 20 30 40 50
Module Angle [deg]

[iN

o1

0.5

zLocal Offset

(=)

N

Tray 102

B R T R T

Module Angle [deg]

Tray 106

o1

0.5

zLocal Offset

(=]
P

-

-0.5

B T R TR R R T

zLocal Offset

zLocal Offset

Module Angle [deg]

Tray 110

o

0.5

zLocal Offset

Wn

-0.5

-2.5
-10 0 10 20 30 40 S

zLocal Offset

-0.5

l\)b’\ﬁ o i'

“10 0 10 20 30 40 S

zLocal Offset

-0.5

-1.5

zLocal Offset

Module Angle [deg]

Tray 114

=]

0.5

zLocal Offset

Module Angle [deg]

Tray 118

o

.5)

-

zLocal Offset

“10 0 10 20 30 40 S

Module Angle [deg]

o

Tray 103

25T 504050
Module Angle [deg]

Tray 107

“10 0 10 20 30 40 50
Module Angle [deg]

Tray 111

25 M M M M M
10 O 10 20 30 40 50
Module Angle [deg]

Tray 115

15
05
0
-0.5
15
2

2S00 0 4050
Module Angle [deg]

Tray 119

i3
0.5F

of———— a

-0.5p

-1.5

-2|

2000 4050

Module Angle [deg]

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

zLocal Offset

Tray 104

OHQT

~ M M M M P |
2'310 0 10 20 30 40 50

Module Angle [deg]

Tray 108

-0.5p

-1.5

B R R T T R VR TR
Module Angle [deg]

Tray 112

-0.5p

-1.5p

25 i i i i i

10 0 10 20 30 40 50
Module Angle [deg]

Tray 116

1.5
05
0
05
15
-2

fal
e
B R R T BT BT Yo R
Module Angle [deg]

Tray 120

1.5
0.5
0]
-0.5
-1.5
-2
-2.5 r

-10 O 10 20 30 40 5
Module Angle [deg]




zLocal Offset

20 40 o0 80 100 120
Tray #



20

[wo] 189S0 207X

_2III

80 100 120

60

40

Tray #



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57


